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Question Number : 1 Question Id : 9679471415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Swan : Cygnet :: Cockroach : ?
Options :

1. # Larva

2. % Nymph

3. # Filly

4. % Caterpillar

Question Number : 1 Question Id : 9679471415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 997 Hifore, foresT dR Wsg I a8] Y 8, ST g Xed &1 Ugd Wk I 5

Y (Swan) : IRIAD (Cygnet) :: ﬁlﬂ?@f (Cockroach) : ?
Options :

1. #® ?’ﬂ?ﬁ(Larva)

2. ¢ 9% (Nymph)

3. % gel (Filly)

4. % T (Caterpillar)

Question Number : 2 Question Id : 9679471416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the letter-cluster from among the given options that can replace the question mark (?) in the following series.

MAT, IET, EIT, ?, WUT
Options :
1. % AET
2.% AOT
3. % BOT
4. % BET

Question Number : 2 Question Id : 9679471416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U fasmedl § O I 31&R-THg &1 99 &3, ot FfoiRad S@ar # vy g (7) & I W 31 &bl g

MAT, IET, EIT, ?, WUT
Options :
1. ¥ AET
2. ¥ AOT
3. % BOT



4. = BET

Question Number : 3 Question Id : 9679471417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the numbers are related in the same way as are the numbers in the given pair.

36:214
Options :

1. % 81:731
2. % 81:726
3. % 16:66
4. % 64 :510

Question Number : 3 Question Id : 9679471417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fache &1 797 &, o &} 718 Tremalt & o 98! YeY 7, S fou U i ot Tl & S g

36:214
Options :

1. % 81:731
2. % 81:726
3. % 16:66
4. ¥ 64 :510

Question Number : 4 Question Id : 9679471418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A school bus starts from place G. The number of boys on the bus is half of the number of girls. In city Y, 6 girls leave the bus and 3 boys enter.
Now, the number of girls and boys is equal. In the beginning, how many students were on the bus?

Options :
1. % 20



2.9 27
3. % 26
4. % 30

Question Number : 4 Question Id : 9679471418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Tp0 §8 RIF G ¥ I L& BN 8| 58 H Th] b1 G, FSihdl 1 T § oftefl §1 TR v H, 6 Tsforat o ¥ Faperelt € ik 3
TSh THH UAU HRA 8 | 3T, ASfHUl 3R TS ! TSI SRR & | URH H, 9 H fopaq faemaff &9

Options :

1. % 20

2.¥ 27

3. %26

4. % 30

Question Number : 5 Question Id : 9679471419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many circles are there in the given figure?

Options :
1. #® 16
2.¥ 14
3. % 12
4. % 18



Question Number : 5 Question Id : 9679471419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1 71 3Mepfdl H o gl &7

Options :
1. % 16
2.9 14
3. % 12
4. % 18

Question Number : 6 Question Id : 9679471420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the exact water image of the given word.

YELLOW
Options :

L« AELTOM
.« AATTOM

.o AETTOM



+» WO113Y

Question Number : 6 Question Id : 9679471420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T weg & T8 wiat ufafds &1 g S|
YELLOW

Options :

_« AELTOM
,« AITTOM
.o AETTOM

+» WO113Y

Question Number : 7 Question Id : 9679471421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

84:32::78:7
Options :

1. % 39

2. % 146
3.¥ 56

4. % 64



Question Number : 7 Question Id : 9679471421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [aored &1 997 Sifory, e e Ue I 98! JaY §, off gOR UG &1 Ugd Ue 4 ¢ |

84:32::78:7
Options :

1. ®# 39

2. % 146
3.¥ 56

4. % 64

Question Number : 8 Question Id : 9679471422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the odd pair out of the given options.
Options :

1. # Race : Track

2. % Boxing : Ring

3. ¥ Skating : Court

4. % Wrestling : Arena

Question Number : 8 Question Id : 9679471422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U fa el T 9§ SRTd g &1 T H1 |
Options :

1. %39 (Race) : % (Track)

2. % qifegT (Boxing) : & (Ring)

3. & BT (Skating) : PIc (Court)

4. ® W (Wrestling) : 3{™GTST (Arena)




Question Number : 9 Question Id : 9679471423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R,S, T, U, Vand W are seated in a straight-line facing North. R sits fourth to the left of V. S sits second to the right of V. Only 2 persons sit
between S and P. Q and U sit next to each other. Q is not an immediate neighbour of P. W is not an immediate neighbour of S. Who amongst the
following sits second to the right of R?

Options :
1. * Q
2.9 U
3.% P
4. %V

Question Number : 9 Question Id : 9679471423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P,Q,R,S,T,U, V3R W TH ft Ul A SR B SIRTE b 93 5| R, VP I3 AR TA VMR BT 81 S, V & &3 3R G M R
BISIRPF T HIA 2 AT IS G QIR UTH IR P TAH 96 /| Q, P HI FdhedH TSI 781 81 W, S ®T FAdhedd s 781

g Fefifed Y D R & TS SR TR WA R 93132

Options :

1. % Q

2.¥U

3.%p

4. %V

Question Number : 10 Question Id : 9679471424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘M + H’ means ‘M is the son of H’

‘M — H’ means ‘M is the wife of H’
‘M x H’ means ‘M is the brother of H’
‘M +~ H’ means ‘M is the mother of H’
‘M = H’ means ‘M is the sister of H’



What does ‘D x E + F’ mean?

Options :

1. % D is the nephew of F

2. # D is the brother of F

3. ¥ D is the uncle (mother’s brother) of F
4. # D is the father of F

Question Number : 10 Question Id : 9679471424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M+HBTHIE-" M, HHIGI

™M —H BT A g - 'M, H P! Ul g
MxHBTIfT-'M, HBIUE &
M+HBTHIE-'M, HBIH B
M=H B34 - M, HPI I8 &'

‘D x E + F* BT T 31 g2
Options :

1. % D, F BT HASI/HST 8
2. % DFHIHR G

3. D, FHTHMEIR

4. % D FHIOAE

Question Number : 11 Question Id : 9679471425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four of the following five figures are alike in a certain way and thus form a group. Which is the one that does NOT belong to that group?



O ||| e O
o = v ~—®
1 2 3 4 5

Options :

1. * 4

2. %5

3.2

4. % 1

Question Number : 11 Question Id : 9679471425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgifed uia sgpfadl & I TR Ue FfAd d¥ies & a8 3R 39 UHR U JHg ST & | 390 9 DIF I TP 39 THg ¥ afd a1 82

| & VW~ 8

1 2 3 o 5
Options :
1. % 4
2. %5
3.2
4. % 1

Question Number : 12 Question Id : 9679471426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the exact mirror image of the given figure, when the mirror is placed on the right side.

d

-

|w
#

B
\d ef{e

Options :

._\_‘_\_\I ‘:_li'
(.{;; 8 ":".

1. ®
3
&g

2. %




Question Number : 12 Question Id : 9679471426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 7S ol S e adu uffe 1 99 BT, el qUU &) 3geh g Sk @R

o]

Options :



Question Number : 13 Question Id : 9679471427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

Medicines : Dispensary :: Aeroplane : ?
Options :

1. * Garage

2. % Cellar

3. % Hanger

4. * Dockyard

Question Number : 13 Question Id : 9679471427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [aared &1 997 Hifory, forresT TR Xsg I 98] Ty &, ST gak Xed &1 U5 Wt I 5
213 : 3NYYTSY :: TS SIS : 2




Options :
1. % IR
2. % dedlHl
3. Y8R
4. % SlHATS

Question Number : 14 Question Id : 9679471428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the exact water image of the given word.

IMAGE

Options :

< INAGE
, v 1INV QE
.« INVE13

4+« IMVQGE

Question Number : 14 Question Id : 9679471428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 7T Tsg & T} Wit ufafsd &1 a9 B
IMAGE

Options :

. INACE



, v 1INV QE
L« INV@E]

4« IMYQE

Question Number : 15 Question Id : 9679471429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term in the same way as the second term is related to the first term.

49 :352::81:7?
Options :
1. % 729
2. % 830
3. % 720
4. ¥ 738

Question Number : 15 Question Id : 9679471429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fased &1 99 Sifory, foresT d e Ue J 98! Jae §, off gOR UG &1 Ugd Ue 4 ¢ |

49 :352 ::81:7
Options :
1. # 729
2. % 830
3. % 720
4. ¥ 738



Question Number : 16 Question Id : 9679471430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U is the granddaughter of T. S is the grandmother of P. R is the mother of U and wife of Q. Q’s mother is S. H is the son of Z. Z is the daughter-
in-law of Q. W is the sister of Z. How is U related to Z?

Options :

1. # Sister

2. ¥ Sister-in-law
3. % Mother

4. # Grandmother

Question Number : 16 Question Id : 9679471430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U_,_T%ﬁuﬁ'cﬁ%s,Pﬁaa‘T%m,UﬁnT%eﬁ?Qﬁuaﬁ%Qﬁms%H,zwgﬁr?ﬂz,Qaﬂgaaq%w,zﬁaﬁ%lUwzﬁw
qdY g?

Options :

1. % dg

2. ¢ HIHY/AE/CaRASISHT

3. % 7

4. % QIQl/AM

Question Number : 17 Question Id : 9679471431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amrita ran 20 m towards the north, took a left turn and ran for 40 m. She then took a right turn and ran for 80 m and again took a right turn and
ran 40 m. How far is she from the starting point?

Options :

. % 40m
2. % 80m
3. % 60 m
4.9 100 m



Question Number : 17 Question Id : 9679471431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT SR BT 3R 20 m SISl 5, fOPR AT el © 3R 40 m SIS B 1 R I8 &T¢ FSall & 3TR 80 m ISell & SR U TGS § 3R 40 m
S 81 3 a8 R foig J fbat R 82

Options :

1. % 40m

2. % 80m

3. % 60m

4.4 100 m

Question Number : 18 Question Id : 9679471432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

458, 271, 230, 272, 116, 273, 7,274
Options :

1. ® 60

2.¥ 59

3. % 64

4. % 58

Question Number : 18 Question Id : 9679471432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e fyeweat & § I e &1 9u- Fiforg, s fafaiad 9oft & uy g (2) & M W 31 Tl g

458,271, 230,272, 116,273, 7,274
Options :

1. ® 60

2.¥ 59



3. % 64
4, % 58

Question Number : 19 Question Id : 9679471433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four of the following five figures are similar in a certain way while one of them is different. Select the figure that is different.

O1<D || D[] ©

1 2 3 & 5
Options :
1. %3
2. %2
3.¥4
4, %5

Question Number : 19 Question Id : 9679471433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fmiferd uia sefadl & ¥ TRt P o T Td € STR U SRITd § 1 S B &1 Ig- HY, S 3 F SR 3|

O1<D || D[] ©

1 2 3 “ 5
Options :




1. %3
2.% 2
3.4
4. %5

Question Number : 20 Question Id : 9679471434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is the exact mirror image of the given word, when the mirror is placed on the right side.

TEMPLATE

Options :

 « LEWbTVLE
2.¢3TAJqM3T
,« LEWPTVLE

L% ATYIGMIT

Question Number : 20 Question Id : 9679471434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T 2reg & ) U Ufdfed 1 < HIE, Siafs U0 ) 3T SIS 3R W T2 |
TEMPLATE

Options :

 « LEWDbTVYLE



2.¢3TAJqM3T
; « LEWPIVLE

L% ATYIAMIT
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9679471435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day did Clement Attlee, the former Prime Minister of the United Kingdom, announce that the British Government would grant full
self-government to British India by 30 June 1948?

Options :

1. ¥ 20 February 1947
2. % 20 February 1950
3. % 20 February 1946
4. % 20 February 1942

Question Number : 21 Question Id : 9679471435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gAECS fhen & gd werHa faadue dea 5 &1 Ig avoT &1 ot o fafesr TRAR 30 I 1948 T fafewr URd &1 qof w@nedi=an
GG UG B |
Options :

1. ¥ 20 TIaR] 1947
2. % 20 HRAT 1950
3. % 20 BRdART 1946
4. % 20 HRA3 1942

Question Number : 22 Question Id : 9679471436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Rajatarangini’, the book that is a source of information about early Kashmir and its neighbours in the north-western Indian subcontinent, was
written by:

Options :
1. # Aryabhata
2. ¥ Kalhana



3. % Chanakya
4. # Lalitaditya

Question Number : 22 Question Id : 9679471436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'w%un;gm P & AGH B 82 T8 TP RIS HRUR, TUT STR-UHH HRATT SUAGTEIY & 3P TSR & aR & THBHR!
& TH |

Options :

1. ® 3YE

2. ¢ Hegul

3. % 0Ty

4. % Aldaried

Question Number : 23 Question Id : 9679471437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the Emperor of the Mughal dynasty when Nadir Shah attacked the Sultanate of Delhi?
Options :

1. % Bahadur Shah Zafar

2. # Aurangzeb

3. # Jahandar Shah

4. ¥ Muhammad Shah

Question Number : 23 Question Id : 9679471437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 2MME GRT feeeh Yeaqd UR SMTehHU fHT S & JHY TFTE 927 BT GHIE DI U2
Options :

1. % dglgX Mg St

2. % IS




3. % SgICR Y18
4. v HgHq X8

Question Number : 24 Question Id : 9679471438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cordial relations were established between two groups, the Extremists and Moderates, which belonged to the Indian National Congress, in the:
Options :

1. % Lucknow Pact, 1916

2. ¥ Gandhi-Irwin Pact, 1932

3. ¥ Mountbatten-Sardar Patel Pact, 1939

4. ¥ Bombay Pact, 1918

Question Number : 24 Question Id : 9679471438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied o § fa YR AP B0 & AU SR TRAUA Gl & o Agrayul Gy R gu2
Options :

1. ¢ TGS GHIIT, 1916

2. % Tieh-3faT gHLan, 1932

3. ® Adcac-IRER Ued HIT, 1939

4. % g UL, 1918

Question Number : 25 Question Id : 9679471439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To expand the participation of Indians in the Government of India, which of the following Acts was passed by the United Kingdom?
Options :

1. # Indian Councils Act, 1892

2. % The Government of India Act, 1935

3. ¥ The Government of India Act, 1919



4. ® Indian Councils Act, 1909

Question Number : 25 Question Id : 9679471439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WRHR T YR 1 TR fosgd & & foe, garges fdren gr FufoRaa & @ &= ar siftfaw uifva fosan mar un
Options :

1. % YR uRyg Aoy, 1892

2. % YR WPR AT, 1935

3. ¢ YRd WDHR AT, 1919

4. % YR URYG T, 1909

Question Number : 26 Question Id : 9679471440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to which Amendment in the Constitution, reservation for economically weaker sections of the society was implemented?
Options :

1. # One Hundred and Fifth Amendment Act, 2020

2. % One Hundred and Third Amendment Act, 2019

3. # One Hundred and First Amendment Act, 2018

4. % One Hundreth Amendment Act, 2019

Question Number : 26 Question Id : 9679471440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy # Fafeied # A fog Gied & AR, JHS o 3 U J HHSR i o (78 SR A fobar
Options :

1. % U Y yrgal Iy AfIFw, 2020

2. ¢ T I it I AT, 2019

3. % TP G Uhal GReF AfAfFEH, 2018

4. % U Uiat g T, 2019



Question Number : 27 Question Id : 9679471441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Provisions for SC and ST in every panchayat are made under which Article of the Constitution?
Options :

1. ® Article 243(F) of the Constitution of India

2. ¥ Article 243(D) of the Constitution of India

3. # Article 243(A) of the Constitution of India

4. % Article 243(S) of the Constitution of India

Question Number : 27 Question Id : 9679471441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uamrad § SIIyfad ST 3R SrIyfed SHenid & ol Sfae™ & {69 sifwse o Sfaiia wae fht Y 82
Options :

1. % YR o IfAUT BT 3G 243 (F)

2. ¥ YR & AfGY™ BT 354 243 (D)

3. % YR & AGUM BT 3G 243 (A)

4. ® YRd & AU BT 34 243 (S)

Question Number : 28 Question Id : 9679471442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Believe in Sports’, a campaign which was initiated to prevent competition manipulation, has chosen which Indian athlete as an ambassador?
Options :

1. ¥ P.V. Sindhu

2. % Saina Nehwal

3. % Mamta Vishnoi

4. % Mahima Kaur

Question Number : 28 Question Id : 9679471442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Eﬁ%ﬁg‘aﬁ&ﬁﬁWﬂ@/é{%eﬁQ¢W$%ﬁwmw&r&mﬁﬁ?ﬂ'q’s?@ﬁr%ﬁmmlm—cﬂquﬂfﬁuwgd%Q«\uﬁgrn
Tgre?

Options :

1. °t . Ry

2. % g1 Hgdd

3. % THar fads

4. % ORRATHR

Question Number : 29 Question Id : 9679471443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ali Akbar Khan, a Hindustani classical musician, belonged to which of the following Gharana?
Options :

1. # Assam Gharana

2. % Bhopal Gharana

3. # Patiala Gharana

4. % Maihar Gharana

Question Number : 29 Question Id : 9679471443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fE g AR TADBR 3felt 3peR Wi fbg TR J Heiferd U2
Options :

1. % 3HH WA

2. % U7l ORI

3. ® Ufegrell ORI

4. ¢ BERERA

Question Number : 30 Question Id : 9679471444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tribes is a Dravidian ethnolinguistic group?
Options :

1. # Lambada

2. % Konyak

3. % Gonds

4. ¥ Miri

Question Number : 30 Question Id : 9679471444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & q i @ Sonfa U FBECEIGICRINIE g (Dravidian ethnolinguistic group) 87
Options :

1. # TSI

2. % DIYh

3. ¥ Tlig

4. % o

Question Number : 31 Question Id : 9679471445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the state and wildlife sanctuary which hosts the most number of one-horned rhinoceroses in the world?
Options :

1. ¥ Kaziranga, Assam

2. % Sariska, Rajasthan

3. #* Jim Corbett National Park, Uttarakhand

4. ¥ Gulmarg National Park, Jammu and Kashmir

Question Number : 31 Question Id : 9679471445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



g T 3R Tolla 31vaRug |, T i aTdl st o1 Twe fay & Taffdre 82
Options :

1. ¢ BTSN, Y

2. % RI®T, ISTRIH

3. % o Pldc AP ITH, ITRIES

4. % AR AP ITH, TR T HIR

Question Number : 32 Question Id : 9679471446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is defined as a rapid increase in price, which is out of control, in an economy?
Options :

1. # Inertial inflation

2. % Hyperinflation

3. % Inflation hedge

4. % Stagflation

Question Number : 32 Question Id : 9679471446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafofed # § f6, U srfcaawin & sinal § feor 9 W g gfs & = & ufkyia fasar man ge
Options :

1. % Sgdg H&"Wﬁ‘f (Inertial inflation)
2. ¢ HfAHERBIA

3. % Wﬁ &S (Inflation hedge)
4. % {80q Whifd (Stagflation)

Question Number : 33 Question Id : 9679471447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An investment position intended to offset potential losses or gains that may be incurred by a companion investment is known as:



Options :

1. ¥ hedging
2. # directors
3. % creditors

4. # arbitrage

Question Number : 33 Question Id : 9679471447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHadt gg-fAaw I g1 arclt Tuifad g1f a1 oy & IR #37 & I3 I fovar mar faw fofa oo wearar g2
Options :

1. ¥ BT

2. % STy / Fame

3. % QER / e

4. % fqara / SIdRUUH

Question Number : 34 Question Id : 9679471448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sodium stearate molecule has:

Options :

1. # a hydrophobic head and a hydrophilic tail
2. % ahydrophilic head and a hydrophilic tail
3. ¥ a hydrophilic head and a hydrophobic tail
4. % a hydrophobic head and a hydrophobic tail

Question Number : 34 Question Id : 9679471448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Oif gy Wave o) & a1 giar 82

Options :



1. * Tob gafaRt <Y 3R Ueb Garmil g
2. % U SRl XY SR U SRl g5

3. ¢ U oI 2 8iR U gaformft g
4. % T gafaRmh 2 SR Ue gaformit U=

Question Number : 35 Question Id : 9679471449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In infants, the therapy for the cure of diarrhoea includes:
Options :

1. # magnesium

2. % cadmium

3. % iron

4. ¥ zinc

Question Number : 35 Question Id : 9679471449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrgait &, <% & 3 & forg oY S areht fifrcan aan wffifed giar g2
Options :

1. % B

2. % HHgH

3. % 3RA (AI8)

4. ¢ TS

Question Number : 36 Question Id : 9679471450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In most natural ecosystems, energy is absorbed from the sun and then consumed by producers and so on. What kind of energy flow is this
considered as?

Options :
1. ¥ Multidirectional



2. # No specific direction
3. ¥ Unidirectional

4. % Bidirectional

Question Number : 36 Question Id : 9679471450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TR Ui TR 8, JI W Soll Sa=NNd $I Sl ¢ 3R I8 SMGH! gRTd 391 UHR 3R TN $I il ¢ | I8 Ffarad & 3
5T YpR 1 FHolf YaTg HHT ST 82

Options :

1. % SgiaxTdS

2. % pIs faQy fo=m =&

3. ¢ fa=md

4. % fgfe=maTs

Question Number : 37 Question Id : 9679471451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the competing contestants from 74 different countries, who won the Miss Universe Crown in 2020?
Options :

1. ¥ Andrea Meza

2. # Julia Gama

3. % Janick Maceta

4. ¥ Adline Castelino

Question Number : 37 Question Id : 9679471451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

74 Tafid <=0 & il & UiieRT are wiaaifiar & 2020 B gHaw &1 Raare feam s

Options :

1. ¢ U1 Ael



2. % SfferaT THT
3. % Sf Adber
4. % TSATST pIoHl

Question Number : 38 Question Id : 9679471452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kofi Annan along with the United Nations was awarded the Nobel Prize for Peace in which year?
Options :

1. * 2000

2.9 2001

3. ¥ 2004

4. % 2006

Question Number : 38 Question Id : 9679471452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o, T MY & 1Y DI A P ifcl & Aol GREBR F FrA1d fowa a1 Ur
Options :

1. % 2000

2.9 2001

3. % 2004

4. % 2006

Question Number : 39 Question Id : 9679471453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following is a female of Indian origin and was elected as the President of the UN General Assembly?
Options :

1. # Trygve Lie

2. % U Thant

3. % Vijay Laxmi Pandit



4. % Romesh Bhandari

Question Number : 39 Question Id : 9679471453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRGTG G B! fobd Afgel 1 S AP HSTHHT BT Sl A1 1 62
Options :

1. # ﬁjﬁfﬂé (Trygve Lie)

2. % g Yie

3. ¢ facrgaeH ufsa

4. % JU YR

Question Number : 40 Question Id : 9679471454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following organisations encourages the development of peaceful application of nuclear energy and science and technology?
Options :

1. % ILO

2. % WHO

3. % IMF

4. ¥ TIAEA

Question Number : 40 Question Id : 9679471454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad # 3 I 1 Gie, WRAT] Sofl quT AT iR Menfiies) & wrifayul sruaiv & 3w o i a1 e?
Options :

1. % 3fI5.Te. 3.

2. % S&g .3,

3. % 3fIS.TH.UD.

4. JRUIT
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Question Number : 41 Question Id : 9679471455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(718 x 718 x 718) — (523 X 523 % 523)
(718 x 718) + (718 x 523) + (523 % 523)

The value of



Options :
1. ¥ 195
2. % 186
3. % 178
4. % 1241

Question Number : 41 Question Id : 9679471455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(718 x 718 x 718) — (523 x 523 X 523)
(718 x 718} + (718 x 523} + (523 % 523)

Rl ATA AT nh:il

Options :
1. ¥ 195
2. % 186
3. % 178
4. % 1241

Question Number : 42 Question Id : 9679471456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table represents the data regarding the number of medals won by different countries A, B, C, D and E in the Asian Youth Games in
the year 2021.

Country | Gold Ratio of Total number
Medal Silver Medal jof Gold, Silver

to Bronze  jand Bronze
Medal Medals

A 12 G:5 56

B 18 5:4 72

C 31 2:1 118

D 26 4:3 96

E 15 8:5 a0

The average number of bronze medals won by A, D and E together in the Asian Youth Games is:



Options :
1. % 28
2.9 25
3. % 30
4. % 24

Question Number : 42 Question Id : 9679471456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faft 3= A, B, ¢, D 3R E gRTaY 2021 H TRMATS ga1 Qi # Sfid T Ueoh! 1 Tem § Wafdd S, Fifed aifee & et m g

gar | w@Ol g 9w 3T | el g AN

9 HIET ToFw B | HIET Tob! B Bl
ST e
A 12 6:5 56
B 18 5:4 72
C 31 2. 1 118
D 26 4:3 95
E 15 6:5 a0

TRATE garW@dl J A, D 3R E gRT AR U J Siid 7T S GG o1 S BT NI 1 By |
Options :

1. % 28

2.9 25

3. % 30

4. % 24

Question Number : 43 Question Id : 9679471457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a class, the number of boys is three-fourth of the number of girls. If two-third of the number of boys and one-half of the number of girls speak



French, then what fraction of the total number of boys and girls speaks French?
Options :
7

1_%-53

=1 | b

2.¥

| k2

| wa

Question Number : 43 Question Id : 9679471457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U P& H TSh| ] TS, TSB! Pt TWAT Bl AH-ANUTS § | TS TSh| b TS BT I-fAgTe HFT, 3R TSfordl ol T BT 31T Ui Tha
S 8, A ASd! 3R ASfHal Bl Hol T BT faa-T U Tl Sl g2
Options :
7

3

~1| b=

2.¥

[ N



ool w

Question Number : 44 Question Id : 9679471458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
The value of (3+3—|—3+ ---—|—;)(l : B S ---—I—;)— (l % S ---+;)(1—|— = +L) is:
v 2021 2y 2020 2~ g 2021/ %2 © 2 2020
Options :
-1

1. ® 2021

7 o 2021

Question Number : 44 Question Id : 9679471458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G+33+i+---+$)(1 +$+§+---+$)—(1 +$+§1+---+$)G+ §1+---+$)$r AT AT HL
Options :

=

2021

1. %



) 2021

2
2021

—
2021

Question Number : 45 Question Id : 9679471459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the smallest whole number that is exactly divisible by 3 % 2 i and 1 i ?

Options :
1. % 138
2.9 132
3. % 124
4. % 130

Question Number : 45 Question Id : 9679471459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

32,2 3R 12 & 707 Rersw @ el waw ofd QU v F e
Options :

1. % 138

2.% 132

3.% 124



4. % 130

Question Number : 46 Question Id : 9679471460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sum and difference of the LCM and HCF of two positive numbers are 316 and 308, respectively. If one number is 52, then the other number
is:

Options :
1. % 32
2. % 28
3. 24
4. % 42

Question Number : 46 Question Id : 9679471460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& YT T3t & TYTH FHIYE (LCM) 3R AgTH HIYa® (HCF) BT ONT 3R 3{dR ShHS: 316 31X 308 &1 fS Uh AT 52 8, al
IR T -t gl

Options :

1. % 32

2. % 28

3.9 24

4. % 42

Question Number : 47 Question Id : 9679471461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three persons P, Q and R divide Rs. 82,875 amongst them in such a way that if Rs. 750, Rs. 1,500 and Rs. 1,125 are removed from the sums that
P, Q and R received, respectively, then the share of the sums that they got will be in the ratio of 11 : 18 : 24. How much did R receive earlier?

Options :
1. * Rs. 35,250
2. % Rs. 32,500



3. ¥ Rs. 37,125
4. * Rs. 34,725

Question Number : 47 Question Id : 9679471461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& afaaal p, Q 3R R 31U &1 Rs. 82,875 &1 AR 59 YR fAHIRId a8 i afe p, @ 3R R &Y U i & TR & T HHT: Rs. 750,
Rs. 1,500 3R Rs. 1,125 T g SITQ, ot 36 UTed IRMET & YT &7 U 11 : 18 : 24 BT SRY & R &1 farat 4=RTIRT O g% 2
Options :

1. % Rs. 35,250

2. ® Rs. 32,500

3. ¥ Rs. 37,125

4. % Rs. 34,725

Question Number : 48 Question Id : 9679471462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller buys two varieties of noodles, the price of the first being twice that of the second. He sells the mixture at Rs. 35/kg thereby making a
profit of 25%. If the ratio of the amounts of the first and second varieties of noodles in the mixture is 2 : 3, then the cost of the first variety of
noodles is:

Options :

1. ¥ Rs. 40
2. % Rs. 38
3. % Rs. 20
4. % Rs. 19

Question Number : 48 Question Id : 9679471462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fashdl A & UPR & T8cd WIS, R ¥ Ugd aTd UhR &I HIAd guR I QAT 8 | ST 39 [HH0 B Rs. 35/kg DI R F TABR 25%
T 3ffoid foram | afe fiyyor & ugd ofR GOk UPR & IScd &1 AE &I U 2 : 3 8, A1 Ugd UHR & T8® ! dIHd 1d Be |

Options :




1. ¥ Rs. 40
2. % Rs. 38
3. % Rs. 20
4. % Rs. 19

Question Number : 49 Question Id : 9679471463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of a residential plot is 3750 m?2. If 2970 m? is permitted for construction as per the Government rule, then what per cent of the plot is to
be left without construction?

Options :
1. % 284
2.9 20.8
3. % 18.6
4. % 214

Question Number : 49 Question Id : 9679471463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH AT S BT 8T 3750 m? 8 | IS TRBRT FHTHER, 2970 m? W Fafor o1 srgafa 81, d Yds &1 feaq ufawra Hr ffor
Xfed g

Options :

1. % 28.4

2.9 20.8

3. % 18.6

4. % 214

Question Number : 50 Question Id : 9679471464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rajee had Rs. 4,800 left after spending 60% of the money she took for shopping. How much money did she take along with her?
Options :



1. # Rs. 15,000
2. % Rs. 10,000
3. # Rs. 12,500
4. % Rs. 12,000

Question Number : 50 Question Id : 9679471464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIGRT H 60% YARIRI W B o §1G i b UM Rs. 4,800 5| I8 WIGRT B fbd1 g=RIRT S 75 &2
Options :

1. * Rs. 15,000

2. % Rs. 10,000

3. % Rs. 12,500

4. ¥ Rs. 12,000

Question Number : 51 Question Id : 9679471465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of 55 students was calculated to be 290 cm. It was detected later that one value of 300 cm was wrongly copied as 245 cm for
the computation of the mean. What is the correct average height of the students?

Options :

1. * 294 cm
2. % 291 cm
3. % 293 cm
4. % 289 cm

Question Number : 51 Question Id : 9679471465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

55 faeniat @ SfiTd $amg 290 om UTS T8 | STE H UdT IaT {3 ATe BT UM & fo1E 300 cm & T A BT T 245 om o feram mam iy
faenfiat ot wgt shad Sars feat g

Options :




1. # 294 cm
2. % 291 cm
3. % 293 cm
4. % 289 cm

Question Number : 52 Question Id : 9679471466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A salesperson has goods worth Rs. 1,20,000. He sold one-third of the goods at a gain of 26%. At what profit per cent should he sell the remaining
two-thirds of the stock so that he gets 39% profit on the whole?

Options :

1. ¥ 45.5 percent
2. # 41.5 percent
3. % 40.1 percent
4. % 43 .8 percent

Question Number : 52 Question Id : 9679471466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fIohdl & UM Rs. 1,20,000 T HIT UT| I A BT Th-Ta8Ts HIT 26% TH TR 9271 I W 1-faeTs A1 ! fobda ufawrd arH R
ST 1T A1fh 3T Hd WG | 39% BT aTH W §12

Options :

1. ¢ 45.5 gfa=rd

2. % 415 gfawrd

3. % 40.1 Ufawrd

4. % 43 g gfa=rd

Question Number : 53 Question Id : 9679471467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller bought 12 types of rice for a certain amount. After a week, he sold 5 types of rice at 20% profit, 4 types of rice with neither profit nor
loss and 3 types at 10% loss. In this transaction, what is the profit per cent?



Options :

1. # 5.50 percent
2. # 5.32 percent
3. % 5.25 percent
4. ¥ 5.83 percent

Question Number : 53 Question Id : 9679471467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fachdl A T Mid §ed | 12 UHR & A1ad Wi | Th T8 b 816, 39 5 UHR o d1ad 20% 1Y R, 4 bR & drad fo1 foa
Y 1 811 TR 3R 3 UhR & A1dd 10% BT IR 59 fou | 39 e # a1y &1 ufd=rd 31d L

Options :

1. % 5.50 gfa=rd
2. % 532 gfa=rd
3. % 525 gfawrd
4. ¥ 5.83 gfa=rd

Question Number : 54 Question Id : 9679471468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A seller sold a sofa for Rs. 25,500 after giving a 15% discount on the labelled price. Had he not given the discount, he would have earned a profit
of 20% on the cost price. what was the cost price of the sofa?

Options :

1. % Rs. 27,500
2. % Rs. 30,000
3. ¥ Rs. 25,000
4. % Rs. 20,500

Question Number : 54 Question Id : 9679471468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fdondl A 3ifdhd T TR 15% D1 FC ad §UTH Il & Rs. 25,500 T 97| TG I B 9 &l g, o 39 98 T TR 20% 1 1Y gIdT|



It o hY Hed Tl Y|
Options :

1. % Rs. 27,500

2. % Rs. 30,000

3. ¥ Rs. 25,000

4. % Rs. 20,500

Question Number : 55 Question Id : 9679471469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A merchant marked his goods at 20% above the cost price. He sold half of the stock at the marked price, one quarter at a discount of 15% on the
marked price and the rest at a discount of 30% on the marked price. His total profit is:

Options :

1. # 5.7 percent
2. ¥ 6.5 percent
3. % 5.5 percent
4. # 6.3 percent

Question Number : 55 Question Id : 9679471469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP AIRT = 3T T TR 6T oo U 20% SHfAH 3ifdd fhaT| 3T 39 i &1 3ifohd T IR, TH TS Wb Bl 3Hfohd o TR 15% B
BC & Y YT AV WD B Hfdbd Tod WR 30% P e b 1Y ST SHBT ol 1Y JTd B
Options :

1. % 5.7 gfawrd
2. ¢ 6.5 Ufderd
3. % 5.5 gfderd
4. % 63 yfaerd

Question Number : 56 Question Id : 9679471470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sum of money invested for 7 years in Scheme A offered simple interest at the rate of 8% per annum. The amount received from Scheme A
after 7 years invested for 2 years in Scheme B offered a compound interest rate of 10% per annum. If the interest received from Scheme B is Rs.
2,457, then what was the sum invested in Scheme A?

Options :

1. % Rs. 6,500
2. % Rs. 7,000
3. # Rs. 7,250
4. ¥ Rs. 7,500

Question Number : 56 Question Id : 9679471470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A H 7 9 & forg R &) 178 IR W 8% Ufd a8 & g A YR <A1 fear Srar g 1 A1 A ¥ 7 aut & d1e Ui fR7 &1 a1 B A
2 AT & forE =T B WR 10% Ufd T8 &1 &R T Ioh gl TS B URIHR 1 T3 | TS Ao B U &S Rs. 2,457 &, A1 Ao A H =T
&1 T3 M fara &

Options :

1. % Rs. 6,500

2. % Rs. 7,000

3. % Rs. 7,250

4. ¥ Rs. 7,500

Question Number : 57 Question Id : 9679471471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two persons A and B, each borrowed equal sums for 3 years at the rate of 5% simple and compound interest, respectively. At the time of
repayment, B has to pay Rs. 54.90 more than A. The sum borrowed by A (in Rs. ) is:

Options :

1. % 7,200
2. % 8,000
3. % 9,000
4. % 6,800



Question Number : 57 Question Id : 9679471471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

<1 KT A 3R B H U Ud 3 HHTE: 5% AR 3R TSl B G W 3 a1 b e1T FHI YRIFRI BT 507 ferdT | Gebell bR o THY,
B &1 A ¥ Rs. 54.90 31D BT YA HAT US| A §RT a5 BUT AR (Rs. T fobat &ie

Options :

1. ¥ 7,200
2. % 8,000
3. % 9,000
4. % 6,800

Question Number : 58 Question Id : 9679471472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a school, 2 boys and 7 girls can do an arrangement of Library books in 8 days. When 4 boys and 10 girls work on the same job, the work gets
completed in 5 days. How many days will a girl take to do the job, if she works alone on it?

Options :

1. # 60 days
2. % 72 days
3. % 80 days
4. % 58 days

Question Number : 58 Question Id : 9679471472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 60 faT
2. % feq
3.+ 80 fad
4. % sgfeq




Question Number : 59 Question Id : 9679471473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A goods train overtakes two persons who are walking in the same direction in which the train is going, at the rate of 4 km/h and 8 km/h, and
passes them completely in 15 and 18 seconds, respectively. What is the length of the goods train?

Options :

1. ® 108 m
2.9 100 m
3. % 130m
4. % 170 m

Question Number : 59 Question Id : 9679471473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 108 m

2.¥ 100 m

3. % 130m

4. % 170 m

Question Number : 60 Question Id : 9679471474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The following line graph represents the time taken to complete a particular task by seven different persons A to G.



18+
164 1 18

14+ 5
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In how much time can B and D together complete the task?
Options :

=]
4— hours
1. ® 17

3i hours
2.9 17

g9
5—hours
3 ® 17

1
3 — hours
4. ® 17

Question Number : 60 Question Id : 9679471474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 61 Question Id : 9679471475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Do not judge your /sing skills on /familiar cultural songs. /No error
Options :

1. * Do not judge your

2. ¥ sing skills on

3. #* familiar cultural songs.

4. % No error

Question Number : 61 Question Id : 9679471475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Do not judge your /sing skills on /familiar cultural songs. /No error
Options :

1. #® Do not judge your

2. % sing skills on

3. ® familiar cultural songs.

4. ® No error

Question Number : 62 Question Id : 9679471476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The fiscal deficit was high as the economy was prone/ to inflation because of lesser productivity in/ both manufacturing and agriculture./No error
Options :

1. ® The fiscal deficit was high as the economy was prone

2. ¥ to inflation because of lesser productivity in

3. # both manufacturing and agriculture.

4. ® No error

Question Number : 62 Question Id : 9679471476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The fiscal deficit was high as the economy was prone/ to inflation because of lesser productivity in/ both manufacturing and agriculture./No error
Options :

1. # The fiscal deficit was high as the economy was prone

2. % to inflation because of lesser productivity in

3. % both manufacturing and agriculture.



4. % No error

Question Number : 63 Question Id : 9679471477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

All were surprised to that he was not with them.
Options :

1. # finding

2. % founded

3. # found

4. % find

Question Number : 63 Question Id : 9679471477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

All were surprised to that he was not with them.
Options :

1. # finding

2. % founded

3. % found

4. ¥ find

Question Number : 64 Question Id : 9679471478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Mathew is expeditions beyond Chile to search for new species of fungi.
Options :



1. # hatching
2. ¥ plotting
3. % accumulating

4. ¥ extricating

Question Number : 64 Question Id : 9679471478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Mathew is expeditions beyond Chile to search for new species of fungi.
Options :

1. * hatching

2. ¥ plotting

3. # accumulating

4. % extricating

Question Number : 65 Question Id : 9679471479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

In business transactions, Aman was with his money, but when it came to his family, he was generous.
Options :

1. ¥ adamantine

2. # chastise

3. ¥ frugal

4. % prodigal

Question Number : 65 Question Id : 9679471479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



In business transactions, Aman was with his money, but when it came to his family, he was generous.
Options :

1. # adamantine

2. # chastise

3. ¥ frugal

4. # prodigal

Question Number : 66 Question Id : 9679471480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The older you get, the most dramatic it feels to fall over.
Options :

1. ¥ the more dramatic

2. #* most dramatic

3. # the much drama

4. % No improvement

Question Number : 66 Question Id : 9679471480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

The older you get, the most dramatic it feels to fall over.
Options :

1. ¥ the more dramatic

2. # most dramatic

3. # the much drama

4. ¥ No improvement



Question Number : 67 Question Id : 9679471481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the sentence with the correct grammatical structure.
Options :

1. ¥ Sana will play the role of a journalist in the upcoming film.
2. # Sana play will the role of an journalist in an upcoming film.
3. # The role of a journalist would play Sana in upcoming film.

4. ® The role would being played of a journalist by Sana in upcoming film.

Question Number : 67 Question Id : 9679471481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the sentence with the correct grammatical structure.
Options :

1. ¥ Sana will play the role of a journalist in the upcoming film.
2. # Sana play will the role of an journalist in an upcoming film.
3. # The role of a journalist would play Sana in upcoming film.

4. % The role would being played of a journalist by Sana in upcoming film.

Question Number : 68 Question Id : 9679471482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dedicate
Options :

1. # Neglect
2. % Abate

3. #® Misapply
4. ¥ Devote



Question Number : 68 Question Id : 9679471482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dedicate
Options :

1. * Neglect
2. % Abate

3. % Misapply
4. ¥ Devote

Question Number : 69 Question Id : 9679471483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Excitement
Options :

1. ¥ Keenness
2. % Apathy
3. % Casual

4. % Amicable

Question Number : 69 Question Id : 9679471483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Excitement
Options :

1. ¥ Keenness



2. # Apathy
3. # Casual
4. % Amicable

Question Number : 70 Question Id : 9679471484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Adversary
Options :

1. # Competitor
2. % Sedentary
3. ¥ Comradely
4. % Sterile

Question Number : 70 Question Id : 9679471484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Adversary
Options :

1. ¥ Competitor
2. # Sedentary
3. % Comradely
4. ® Sterile

Question Number : 71 Question Id : 9679471485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.



Cozen

Options :

1. # Hoodwink
2. % Uncloak
3. ¥ Wrench
4. ® Egregious

Question Number : 71 Question Id : 9679471485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Cozen

Options :

1. #* Hoodwink
2. % Uncloak
3. % Wrench
4. # Egregious

Question Number : 72 Question Id : 9679471486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who is unable to pay his debts
Options :

1. # Fatalist

2. # Benefactor

3. % Insolvent

4. % Arsonist

Question Number : 72 Question Id : 9679471486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

One who is unable to pay his debts
Options :

1. # Fatalist

2. # Benefactor

3. % Insolvent

4, % Arsonist

Question Number : 73 Question Id : 9679471487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Eat like a horse

Options :

1. # To refrain from eating food

2. # To have mood swings

3. % To eat very slowly

4. ¥ To eat large quantities of food

Question Number : 73 Question Id : 9679471487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Eat like a horse

Options :

1. # To refrain from eating food

2. # To have mood swings

3. # To eat very slowly

4. ¥ To eat large quantities of food



Question Number : 74 Question Id : 9679471488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Responsive

2. # Risponsive

3. % Reisponsive

4. ¥ Responseive

Question Number : 74 Question Id : 9679471488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Responsive

2. # Risponsive

3. % Reisponsive

4. ¥ Responseive

Question Number : 75 Question Id : 9679471489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Asasination

2. ¥ Assassination

3. % Asassination

4. % Assasination

Question Number : 75 Question Id : 9679471489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Asasination

2. ¥ Assassination

3. % Asassination

4. % Assasination

Sub-Section Number : 2
Sub-Section Id : 96794789
Question Shuffling Allowed : Yes

Question Id : 9679471490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage carefully and answer the given questions.

No matter where you are in the world, and no matter how light the skies are, the Moon is always there. Our only natural satellite has inspired
literature, art and science for thousands of years. As the days lengthen in the northern hemisphere, it gets harder to spot some of the fainter stars
in the sky. But our Moon is still there, and every few months we have a special sighting. The reason we see different proportions of the Moon
illuminated at different times of the month, or in different phases, is that the Moon is at different points in its orbit around the Earth relative to the
Sun. When the Moon, the Earth and the Sun are all lined up together with the Earth between the Moon and Sun, sunlight shines on the whole
lunar surface and is reflected back to Earth. On Earth, this is known as a full Moon. When the Moon is between Earth and the Sun, no sunlight
can reflect off its surface, and this is a new Moon. In between, only part of the Moon’s surface reflects sunlight, giving it different phases. The
Moon’s orbit around the Earth isn’t perfectly circular — it’s a very slightly squashed ellipse. This means sometimes the Moon is closer to the
Earth than at other times. The Moon’s closest approach to Earth is called its perigee, and a Full Moon at or close to perigee is called a supermoon.
More technically, it’s also known as a perigee-syzygy. The opposite phenomenon — when the full Moon is furthest away from Earth in its orbit —
is called an apogee syzygy or micromoon. Obviously, the supermoon is not a new phenomenon, but its name is quite new — the word doesn’t
appear before the 1970s. There’s one catch to all this supermoon business. The Moon doesn’t actually look that much bigger in the sky compared
to a normal full Moon. But it sometimes looks bigger when it’s closer to the horizon. Why is this, when its size in the sky doesn’t change very
much when it orbits closer to Earth?

This is known as the Moon illusion, and it really is an illusion. If you cover the Moon with your thumb, you’ll always be able to block it out,
whether it looks tiny high up in the sky or whether it looks huge closer to the horizon. People have known about this optical illusion for
thousands of years, but we still don’t completely understand how or why it comes about. We do know it’s a psychological illusion, and probably
at least partly due to the brain thinking that objects near the horizon must be closer to us. There are dozens of competing explanations, and most
of them are to do with how our brains process information.

Sub questions



Question Number : 76 Question Id : 9679471491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. ¥ What circumstances are responsible for optical illusion?

2. ¥ What is the Moon illusion?

3. % What is the moon’s closest approach to the earth is called?

4. % When do we observe micro moon?

Question Number : 77 Question Id : 9679471492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shape of the moon’s orbit around the earth?
Options :

1. ¥ Semi-circular

2. % Perfectly circular

3. % Slightly squashed ellipse

4. % Spherical

Question Number : 78 Question Id : 9679471493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the correct statement(s) from the following.

I. People have known about psychological illusions for thousands of years.
II. A new Moon occurs when the Moon is between the Earth and the Sun.
III. Supermoon is completely a new phenomenon as its name was never heard before.

Options :

1. % Tand II
2.% Only II
3. % Tand III



4. % 1,11 and III

Question Number : 79 Question Id : 9679471494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word-‘lengthen’ as used in the passage?
Options :

1. # Elongate

2. # Contrive

3. % Curtail

4. ¥ Annihilate

Question Number : 80 Question Id : 9679471495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why every few months we have a special sighting of the Moon?

Options :

1. # As in many regions, natural phenomena in the sky disrupts the visibility of the moon.
2. # As the days start to extend near the northern hemisphere.

3. % Because the sunlight shines on the whole lunar surface and is reflected back to Earth.

4. ¥ Because of the different positions of the moon in its orbit around the Earth relative to the Sun.

Question Id : 9679471490 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following passage carefully and answer the given questions.

No matter where you are in the world, and no matter how light the skies are, the Moon is always there. Our only natural satellite has inspired
literature, art and science for thousands of years. As the days lengthen in the northern hemisphere, it gets harder to spot some of the fainter stars
in the sky. But our Moon is still there, and every few months we have a special sighting. The reason we see different proportions of the Moon
illuminated at different times of the month, or in different phases, is that the Moon is at different points in its orbit around the Earth relative to the
Sun. When the Moon, the Earth and the Sun are all lined up together with the Earth between the Moon and Sun, sunlight shines on the whole
lunar surface and is reflected back to Earth. On Earth, this is known as a full Moon. When the Moon is between Earth and the Sun, no sunlight
can reflect off its surface, and this is a new Moon. In between, only part of the Moon’s surface reflects sunlight, giving it different phases. The



Moon’s orbit around the Earth isn’t perfectly circular — it’s a very slightly squashed ellipse. This means sometimes the Moon is closer to the
Earth than at other times. The Moon’s closest approach to Earth is called its perigee, and a Full Moon at or close to perigee is called a supermoon.
More technically, it’s also known as a perigee-syzygy. The opposite phenomenon — when the full Moon is furthest away from Earth in its orbit —
is called an apogee syzygy or micromoon. Obviously, the supermoon is not a new phenomenon, but its name is quite new — the word doesn’t
appear before the 1970s. There’s one catch to all this supermoon business. The Moon doesn’t actually look that much bigger in the sky compared
to a normal full Moon. But it sometimes looks bigger when it’s closer to the horizon. Why is this, when its size in the sky doesn’t change very
much when it orbits closer to Earth?

This is known as the Moon illusion, and it really is an illusion. If you cover the Moon with your thumb, you’ll always be able to block it out,
whether it looks tiny high up in the sky or whether it looks huge closer to the horizon. People have known about this optical illusion for
thousands of years, but we still don’t completely understand how or why it comes about. We do know it’s a psychological illusion, and probably
at least partly due to the brain thinking that objects near the horizon must be closer to us. There are dozens of competing explanations, and most
of them are to do with how our brains process information.

Sub questions

Question Number : 76 Question Id : 9679471491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following questions is not answered by the given passage?
Options :

1. ¥ What circumstances are responsible for optical illusion?

2. % What is the Moon illusion?

3. ¥ What is the moon’s closest approach to the earth is called?

4. % When do we observe micro moon?

Question Number : 77 Question Id : 9679471492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shape of the moon’s orbit around the earth?
Options :

1. # Semi-circular

2. % Perfectly circular

3. ¥ Slightly squashed ellipse

4. % Spherical

Question Number : 78 Question Id : 9679471493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Identify the correct statement(s) from the following.

I. People have known about psychological illusions for thousands of years.
II. A new Moon occurs when the Moon is between the Earth and the Sun.
1. Supermoon is completely a new phenomenon as its name was never heard before.

Options :

1. % Tand II

2. ¥ Only II

3. # Tand III

4. % I I and III

Question Number : 79 Question Id : 9679471494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the antonym of the word-‘lengthen’ as used in the passage?
Options :

1. # Elongate

2. % Contrive

3.+ Curtail

4. ® Annihilate

Question Number : 80 Question Id : 9679471495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why every few months we have a special sighting of the Moon?

Options :

1. # As in many regions, natural phenomena in the sky disrupts the visibility of the moon.
2. % As the days start to extend near the northern hemisphere.

3. % Because the sunlight shines on the whole lunar surface and is reflected back to Earth.

4. ¥ Because of the different positions of the moon in its orbit around the Earth relative to the Sun.
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Question Number : 81 Question Id : 9679471496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B R O CIRCA R R e

Options :

1. % gd



2. % HU
3.« dIgqg
4, % UdR®

Question Number : 81 Question Id : 9679471496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e B @ arardt &1 vafa T2 3-
Options :

1. % ¢d

2. % PHUC

3. ¢ dUy

4. % JdRP

Question Number : 82 Question Id : 9679471497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sffaraor F1 fadm FE A I §:
Options :

1. % 3fafdshHul

2.« 3AfdHHT

3. % Jogd

4. % Wibrd

Question Number : 82 Question Id : 9679471497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sffapror &1 faam FE A 9 §:
Options :

1. ® 3fafdspAr

2. ¢ 3FfdshHT



3. % Joqdd
4. % Wt

Question Number : 83 Question Id : 9679471498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o Teal | ¥ <o &1 fadd &
Options :

1. % Sg

2. ¥ G

3. % 3fem

4. % {9y

Question Number : 83 Question Id : 9679471498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P i # Y <3rea &1 faad 3
Options :

1. % S8

2. ¥ gofHd

3. % 3fem

4. % fAya

Question Number : 84 Question Id : 9679471499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 gl H ¥ B1eT &1 34 TE ®:
Options :

1. ¢ B BHAT

2. % g

3. % Wal



4. % TUR

Question Number : 84 Question Id : 9679471499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o wreal ® ¥ B1e &1 o g &
Options :

1. ¥ G B

2. % dd

3. % Wal

4, % 9UR

Question Number : 85 Question Id : 9679471500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & A o I wee < Suee grr AT 8-
Options :

1. % HRAT

2. ¢ Ry

3. % faig

4. % fAgq

Question Number : 85 Question Id : 9679471500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

iy @ P a1 g < Se gr At &
Options :

1. % R

2. ¢ Ry

3. % fAaig

4. % fAyd



Question Number : 86 Question Id : 9679471501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 5 Q317 1 a3 Iu gR1 AT 1 %
Options :

1. % 3T

2. % 3FPR

3. % 3 gdh

4.« 3IhUl

Question Number : 86 Question Id : 9679471501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 7 9 319 91 g 3 IUI gRT AHd T8 &
Options :

1. % 3T

2. % 3FYDR

3. % g P

4. ¢ 3IHUI

Question Number : 87 Question Id : 9679471502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘qzaﬁ?zr’ ERDES

Options :

1. ¢ S Wty

2. % T[0T WY

3. % YU WYY

4. % gig W I



Question Number : 87 Question Id : 9679471502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘q?-fﬁsﬂ’ H Ty %z

Options :

1. ¢ 3 WY

2. % T[0T WY

3. % YU WYY

4. % gig WR A

Question Number : 88 Question Id : 9679471503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T &1 AfY-fase EﬁTlT:

Options :

1. % 3¢ + 3fd

2. ¢ 31fe + 3id

3. % 31 + 3{d

4. % 3T+ 3(d

Question Number : 88 Question Id : 9679471503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“{TE” BT HfY-fawda gIT:

Options :

1. % 3M1ey + 3{d

2. ¢ 311G + 3id

3. % 3fIq + 3id

4. % 3T+ 3fd

Question Number : 89 Question Id : 9679471504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TRUGAT H JA &
Options :

1. ¢ HHYRY

2. % TgeY

3. g%

4. % 9gdifg

Question Number : 89 Question Id : 9679471504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRUGHT T I g

Options :

1. ¥ SHYRY

2. % ddey

3. % gg

4. % ggdifg

Question Number : 90 Question Id : 9679471505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol # 3 wifeR e @:

Options :

1. % o=

2. % Hdld

3. % %7

4.« dY]

Question Number : 90 Question Id : 9679471505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ol § 3 wifeR e &:

Options :

1. % o

2. % Hdld

3. % %7

4.« dY]

Question Number : 91 Question Id : 9679471506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % HaH

2. % HaRl

3. ¢ Uit

4. % U3

Question Number : 91 Question Id : 9679471506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Options :

1. % gdH

2. % AR

3. ¢ ggit

4. % S

Question Number : 92 Question Id : 9679471507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& WA I ©:

Options :

1. ¢ T & S8 TR UisT S|
2. % §d 98 ST ol <l STe|
3. % Sl $© gIq U1 a8 i Y T
4. % URYH HIAT ol T BT SIS |

Question Number : 92 Question Id : 9679471507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 ¥ IR a 6:

Options :

1. ¢ T R O JWRT UIsT STl

2. % SIq g YT dl el STQ|

3. % S $s g1g U1 ag I Yol |

4. % URYY HIA N U g1 SIS |

Question Number : 93 Question Id : 9679471508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3MTSRTRT AT T FHTTS TETaRT 7
Options :

1. % 3HRI HYH

2. % 3THIR UTdTd Ueh BT

3. % BT H IS

4. ¢ 3BT Y §Td BRI

Question Number : 93 Question Id : 9679471508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SHTIDIR JHAT DhT {-IHI'-II'\’-ﬁJ:J,GIORI %:




Options :

1. % 3B HY

2. % 3{THIY UTdTd Udh HA
3. % 3BT H IS

4. ¥ BT d1d HRAT

Question Number : 94 Question Id : 9679471509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G a1 aTel Xeg BT I PITOTT:
Options :

1. % fRRugsiRIg

2. % RUIHIRIY

3. ¢ fgRUgSHRY

4, * fgRugeeiy

Question Number : 94 Question Id : 9679471509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y& da-1 dTel Xeg BT I DITTT:
Options :

1. % fgRuge g

2. % gRUGHRY

3. ¢ fRuge Ry

4, % fgRUgHY

Question Number : 95 Question Id : 9679471510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(S I aTel Xeq BT IT BT

Options :




1. ¥ Ty
2. % YT
3. % R[HUT
4. % YT

Question Number : 95 Question Id : 9679471510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

(S I aTel Xeq BT IT BIOIT:

Options :

1.« T

2. % gy

3. % RIYUI

4. % QYT

Sub-Section Number : 2

Sub-Section Id : 96794791
Question Shuffling Allowed : Yes

Question Id : 9679471511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

feu U e @ e QU SR U B IR S

fEet Ao & U g7 P! UG- He-1 adaiTd R | TG &1 Uig ATed Xa-Td S9it g & fordt 178 8 fa=ima (1921), Sfola=r
(1922), BTHAT (1927), SHTT ST AR (1926), Thed W (1928), T (1931) 3R YaWIHT (1933) M| Bt e &l Wiefdd yfHw
TG HRA &1 TN Ayl YRdg sRYs A far o711 396 gd Wiigfde Aree! &1 31UTa Ul ORI Aedh-HH - gRT Y Alcd
3Tfefde SR Hofayuf g3 vd U1 URdg A W ATee foram 3R 3= Trfefde Teaifial & 39 3R Ugd B & 1Y 8 SauTid
ST ot g o STl | 3% gRT AT &1 Tt AT 3R 1T &1 URERT &1 81 STaRieR UTE 3 74T Sitaq iR T4t fa=n ve™ @11y
&1 HieTs T8 A fh 3 o THR & ATes forad1 Trgd 3 39 &y W fedl & 78T T | UR™T ST TRt St &1 U o, 31c:
TRITE, & ToTT I S{O-TH &1 UY &1 181 UT| Had: UG A WIifAd JTHd &1 Wad el dI 3R 59 ARG ITHd & g8y & 81 3
Areds ford | TTG Sl 31U dHledfdh TTHT B ATIEIRG FU ol ¢ Yo, forgeh! URumyg Ig g3l i 39 Ares 3= 9l =3l 9 Sy g
Rt 31T Bt 2P T T A 8 Ui | v St d: AR Ak dR & U H Ufaf¥d § | URda <X &1 addh afe gad o afagfd




30 TTRAHY 3l & Bl 5, Al SUH 31 B Bls 91d a1 | 3611 G P TRIHT 3fciid B U ACH| BT [A¥g F1T| 351 Had
YR TpId & TRA- T & o4 &1 1! &1 1 et &t aXqd: S 3AeM &I UrKiF ge-13] & HIegH ¥ IY-0 § gddH Bt
13T BT 0T 3R GHTT U T | Yavatiert df BfagTiish e giax Ht THw Aledh o T 8 | SR STl AehdR
fgoigard, TR TTHd, AR, IR 3R T11S T &1 UHTd uRarerd gial g

Sub questions

Question Number : 96 Question Id : 9679471512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR oY B €Y I TG & ATedh| o1 el B g
Options :

1. ¢ SESY &1 AR, BT, Whe[W, e
2. % IO, SHE BT AN, T, Whal[W
3. % PHIAT, SHHY BT AN, Whed W, e[
4. % I, SHSY DT AN, HTHAT, Wh a1«

Question Number : 97 Question Id : 9679471513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRITE & fohd ATeh | TfagTRich aRa™T & T1Y-91Y THGIAH g &t aHw &1 o i e g:
Options :

1. % fama

2. % 3JIdRIF

3.  YaEaneEl

4. % Wl

Question Number : 98 Question Id : 9679471514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG A G U Y 30 A1Ceh] o [aod §-1T:

Options :
1. % i e




2. % JHifePH HUT
3. ¢ SR &1 3fdld
4, % gAY

Question Number : 99 Question Id : 9679471515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feQ 71T e & fore Iferd 2ives 81 Wb &
Options :

1. % UIC 1 ATy el

2. % TG 3R 3B

3. % TTG 3R URE ST

4. ¢ UIG 1 ATy Ao

Question Number : 100 Question Id : 9679471516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR} e & fov § I T8 |

Options :

1. ¢ URE! W &1 YR YR 8RS & i1 H gaf|

2. % URAT ATCh-HHl gRT NI ATled 3RiTsfd® gid U

3. % ORI WTHT B U1 gRT 3T 1] o o8 ol SO+ T3
4. % ORI TTHT T SR BT AD T

Question Id : 9679471511 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

fQ TTQ TR T e ¥ U SR Ul b IR S

fed} Areaanedd & 39 g7 &1 UG-G a1 JiaaeiTd R | UTG &1 Uig -Ared Xa-18 391 i Hf fordt 12 8 fa=ima (1921), SfeiTa=g
(1922), BTHAT (1927), ST BT ANTIR (1926), THEIW (1928), TEW (1931) 3R YaTHAT (1933) 31 | &S e & wifefde YT
T&H B P YN Fauud HRdg gRE% = far Tl 37 Jd Wiigidies Aes| &1 31U U IR ATed-HHE -] gRT 3 Aled




3TTRTA® 3R HrAYUl g3 dRd A HRdg - W Aled fora- 3R 310 A1 TeailiTl &l 59 3R Ugd &+ & WY g SAadiad
T @1 Ata Ut ST | 390 GRT RITUT &1 TR ATed 3R TTHT &1 IRERT $I 81 SIS Y™TG = =741 Sia- 3R 741 =M UG 1| UG
&1 HiSTs T8 A fh 9 o THR & ATes ferad1 argd A S & WHd fdl H 7181 T | UR™T TTHd Tl S il &1 Ui T, 31c:
TRITE & foTE S SO BT U B ] UT| Had: TG o Hiieidd STHd 1 W Hed-l &1 3R 39 AFNI® YTHd & g8YH H g1 A
e ford | UTG Sit 30+ Dieddh TTHT B ATT8IRD FU a1 ¢ Yo, foreh! URumyg Ig gl fob 39k Areeh 3= 9l =3l 9 SH ¥ g
W ot ST B = I T e A 81 U | U Sft Rerd: UfeTRies A e & ¥ H Ufaffd 81 TRas <=1 &1 A afe addH o1 &fagfd
3O TRTHY 3fclid H BT &, A 3TH 3N B PIS &1d g1 | 361 o b RAHY 37clld P (U A1Ch! BT fIvy 111 IBIH had

YR THTd & TRG- TTH & AW g1 Aedh! &1 71 et Bt At ad: I11 308 Bt UTe- ge1sii & Areqd § 4g-0 H aaddq o
TS o1 Fesor 3R THTT TR fordT | Yawanfeet af UfAeTRIe e gl o T Aled o4 741 § | 3T SIel AlehdR
fgoigard, TR TTHY, VIR, S0 3R SIS N1 &1 THIT IRATEd gial 5 |

Sub questions

Question Number : 96 Question Id : 9679471512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UHTIH a8 Bl £ T YIS & AAedh! &1 Jal HH &
Options :

1. ¢ SHESY &I AN, BT, Wb a1, a1«
2. % HIHAT, SHAS HT ANTIR, S, Whal[w
3. % BT, SHSY BT AN, Th e[, e«
4. % FI, SIHGI BT ANTIR, HTHAT, Thal [«

Question Number : 97 Question Id : 9679471513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG & oy ATea o TfdgTiRies URa=T o 1Y-|1 JHBIE G &1 THw & Hf =T e §:
Options :

1. # fagmg

2. % JHJITdRF

3.  Yaana=

4. % W

Question Number : 98 Question Id : 9679471514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

UTE - G U 9 304 A1Cah] BT favg s

Options :

Question Number : 99 Question Id : 9679471515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fere Tu Terrer 3 forg 3fer =i g e &:
Options :

1. % TG i ATy Sl

2. % TG 3R IHT

3. % TG 3R IR WTHT

4.+ YIS &1 ATy Hifgd

Question Number : 100 Question Id : 9679471516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR T & fov & 9 T8t 6

Options :

1. ¢ ORI TTHT D1 YR HURdg 8RS & g H ga|

2. % URYY ACH-HHA] gRT U Aledh 3iafAd gid U

3. % ORI T B UH1G gRT U ATeh] o e ol U= |
4. % URY TTHT IX! S9 1 BT TS AT

Disciplinel



Group Number : 6

Group Id : 96794776

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 96794776

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 96794792

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9679471517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When were the first rock paintings in India discovered?
Options :

1. % 1881

2. ¥ 1867-1868

3. % 1957-1958

4. % 1932



Question Number : 101 Question Id : 9679471517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA ¥ forg o1d H gduyH U ol &1 Tie B 752
Options :

1. % 1881

2. % 1867-1868

3. % 1957-1958

4, % 1932

Question Number : 102 Question Id : 9679471518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The green paintings of dancers and the red ones of hunters were related to which period?
Options :

1. ¥ Upper Palaeolithic period

2. # Mesolithic period

3. % Neolithic period

4. % Middle Age period

Question Number : 102 Question Id : 9679471518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D! &b gL W D I 3R RIp1l & a1t 31 3l bR o B1a & et g2
Options :

1. % U (3=d) YRIUIYIUT hiel

2. % HYUYUT bTcf

3. % AdUIYIUT Tt

4. % Y hId



Question Number : 103 Question Id : 9679471519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The green colour used in the Bhimbetka paintings is made of which stone?
Options :

1. # Lapis lazuli

2. # Limestone

3. ¥ Haematite

4. ¥ Chalcedony

Question Number : 103 Question Id : 9679471519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ViveiceT & ol § TRt o e gv1 31 Fafafed # 9 feg uer 4 fAfffa g2
Options :

1. % AU ol

2. % TATUR

3. % GHICIEC

4. SRS

Question Number : 104 Question Id : 9679471520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which archaeological site was included in the World Heritage List by UNESCO in 2021?
Options :

1. ¥ Dholavira

2. ® Harappa

3. ® Kalibanga

4. % Lothal

Question Number : 104 Question Id : 9679471520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

AT (UNESCO) gRT FHfafad & ¥ ford qRIdTicde ®id &1 2021 H fay exigx gt & afeiferd fosar mam
Options :

1. ¢ IR

2. % gour

3. % BIcle

4. % YA

Question Number : 105 Question Id : 9679471521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Ajanta caves was painted with the theme Buddha, Yashodhara and Rahul?
Options :

1. % Cave no. 16

2. % Caveno. 17

3. # Caveno. 1

4. % Caveno. 10

Question Number : 105 Question Id : 9679471521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3ISidT &1 s 1 & §g, TRNERT SR A I Taerd Rt &1 115 2
Options :

1. % B, 16

2. ¥ BIY. 17

3. % qHIY. 1

4. % TBIY. 10

Question Number : 106 Question Id : 9679471522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who among the following artists passed away on 6 January 20207?
Options :

1. ¥ Akbar Padamsee

2. # Satish Gujral

3. # Laxman Pai

4. % Siba Panigrahi

Question Number : 106 Question Id : 9679471522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad o & SF 91 SATBR, 6 TaRT 2020 B fadTTd g1 T
Options :

1. ¢ 3peR UGHY!

2. % IR ORI

3. % QU UTS

R ICICIPE

Question Number : 107 Question Id : 9679471523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the correct full name of the famous artist ‘A.A. Almelkar’?
Options :

1. ¥ Abdulrahim Appabhai Almelkar

2. % Abdulrahim Abid Almelkar

3. % Abdul Appabhai Almelkar

4. ¥ Appabhai Abdul Almelkar

Question Number : 107 Question Id : 9679471523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RS FATDHR T AHAHTDY BT Te! T A4 &7 82

Options :



1. ¥ 3egaREH WY SHAHADR

4. ® 3WTHTS 3egd AHTHAB

Question Number : 108 Question Id : 9679471524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Uma’ painting was made by who among the following painters?
Options :

1. ® Gaganendranath Tagore

2. % Rabindranath Tagore

3. ¥ Abanindranath Tagore

4. # Nandalal Basu

Question Number : 108 Question Id : 9679471524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad o O fod R A <ar Aame R s=mn ue
Options :

1. % THGATY IR

2. % YEIAY SR

3. ¥ Sy SR

4. % Jedd g

Question Number : 109 Question Id : 9679471525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following painted ‘Mountain Women’?
Options :

1. # Raja Ravi Verma



2. % Lalit Mohan Sen
3. #* Nandlal Bose
4. # Jamini Roy

Question Number : 109 Question Id : 9679471525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T3 dH- (Mountain Women)' &I ot fope ST U
Options :

1. % ol 3fd gt

2.« <ferd HigH I

3. % e a9y

4. % SR

Question Number : 110 Question Id : 9679471526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists painted Nuclear Ragni?
Options :

1. # F.N. Suza

2. % Tyeb Mehta

3. % A. Ramachandra

4. % Abdul Rehman Chugtai

Question Number : 110 Question Id : 9679471526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRaa o O frg FareR A gfaeraR AT (Nuclear Ragni) &1 o S91IT UT?
Options :

1. # U, UA. oIl

2. % g9 Hgdl




3. ¥ U AR
4. % 3fegd UM ATs

Question Number : 111 Question Id : 9679471527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists painted ‘Mahalaxmi’ on a metal shutter?
Options :

1. ¥ Atul Dodiya

2. % Bhupen Khakhar

3. % Jayant Parekh

4. % Nalini Malini

Question Number : 111 Question Id : 9679471527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ ¥ forg FAeR A UTg & ex R HIAEHT BT o s
Options :

1. ¥ 3{gd sifsar

2. % YU TER

3. % ST URY

4. % ferT Arfert

Question Number : 112 Question Id : 9679471528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following style is called ‘Paschim Bhartiya Shaili’ by Anand Kumar Swami?
Options :

1. ¥ Gujarat style

2. % Bengali style

3. # Company style



4. # Pala style

Question Number : 112 Question Id : 9679471528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fFig PUR WH gRT ford ek BT UIHH YR it Bl T
Options :

1. ¢ ToRTd Rt

2. % FITCH el

Question Number : 113 Question Id : 9679471529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following colours is NOT used in ‘Sigiriya Cave’?
Options :

1. % Red

2. % Green

3. ¥ Blue

4. ¥ Yellow

Question Number : 113 Question Id : 9679471529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiifar r & Fafiea 5 3 & a1 1w 98 e g
Options :

1. % ol

2. % QX

3. ¢ e

4. % Glefl



Question Number : 114 Question Id : 9679471530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the UNESCO world heritage site ‘Verul’ situated?
Options :

1. ¥ Aurangabad

2. % Udaigiri

3. # QOdisha

4. % Madhya Pradesh

Question Number : 114 Question Id : 9679471530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TARD!T (UNESCO) FT fay eRIEX Rd 99 Hal 1Ud 82
Options :

1. ¢ SRATETG

2. % IO

3. % 3fifg=m

4. % AH Y

Question Number : 115 Question Id : 9679471531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the height of the masterpiece ‘Sadashiva’ situated at Elephanta caves?
Options :

1. % 8m

2.% 7Tm

3.% 5m

4. % 6.1 m

Question Number : 115 Question Id : 9679471531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TlTheT &1 Th1sf § U URTs Harp i alRia &1 $ars fbd g2
Options :

1. *% 8m

2. 7m

3.%¥ 5m

4. % 6.1 m

Question Number : 116 Question Id : 9679471532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which illustrated book is painted with the event of the birth of ‘Mahavira’ Jain Tirthankara?
Options :

1. % Panchasikha

2. ¥ Kalpsutra

3. # Sadhanmala

4. % Gandhawyuh

Question Number : 116 Question Id : 9679471532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed o @ fora afes Tae § TRk SF difer & o= o geamt R &1 18 82
Options :

1. % iR

2. ¥ HUdA

3. % HIYHTAT

4. % TiYYg

Question Number : 117 Question Id : 9679471533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following ‘Shadanga’ is related to the feelings of form?
Options :

1. % Pramanani

2. ¥ Bhava

3. % Lavanya Yojanam

4. # Sadrisyam

Question Number : 117 Question Id : 9679471533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed # § oF a1 W WEU 31 rgyfaal @ e g2
Options :

1. % GHIUMHT

2. % HId (Bhava)

3. % |EUY oy

4. % YERYH (Sadrisyam)

Question Number : 118 Question Id : 9679471534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following principles are NOT relevant to web design?
Options :

1. % Proximity

2. % Similarity

3. % Continuity

4. ¥ Route decisions

Question Number : 118 Question Id : 9679471534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o 9 Rigia 99 fS9g & forg Suged 61 82




Options :

1. % AeedadE
2. % JUME

3. % fRaRdAad
4. ¢ A1f fAofy

Question Number : 119 Question Id : 9679471535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When both sides are similar in visual weight, it is called?
Options :

1. # radial balance

2. #® asymmetrical balance

3. ¥ symmetrical balance

4. ® atmospheric balance

Question Number : 119 Question Id : 9679471535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o9 Gl u&f T TR YR GHH BT B, A 39 T gl e 82
Options :

1. % 3R U (radial balance)

2. % 3 U (asymmetrical balance)

3.« qHfq YJe (symmetrical balance)

4, ® dIgJ-iSCﬂq {-igc'l"l (atmospheric balance)

Question Number : 120 Question Id : 9679471536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

is a technique which represents a three—dimensional world onto a two-dimensional surface. It creates an illusion of space and depth on a
flat surface.

Options :



1. #* Value
2. % Shape
3. # Texture

4. ¥ Perspective

Question Number : 120 Question Id : 9679471536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
; % W gt g, ST fg-smardt gy R B-smandt Sra &1 Aefid #xd 3 | 98 THad U8 WR R 3R TER1E &1 Y9 I
I
Options :
1. # HH (value)
2. % 31'@1%{ (shape)
3. % d-IdC (Texture)
4. ¢ TRU& (Perspective)
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Question Number : 121 Question Id : 9679471537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a cool colour?
Options :

1. * Purple

2. ¥ Yellow

3. * Green

4. % Blue

Question Number : 121 Question Id : 9679471537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRed § § &1 91, U6 $d HeR T8l 62
Options :

1. % ST

2.« Ulell

3. % 81

4. % e

Question Number : 122 Question Id : 9679471538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In drawing and painting, the lightness and darkness of colour is called:
Options :

1. ¥ value

2. # space

3. % harmony

4. # rhythm

Question Number : 122 Question Id : 9679471538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R 3R RFwe &, T & §eb U 3R MU P! &1 BT SITdl 82
Options :

1. ¥ HY (value)

2. % fahwH (space)

3. % Od (harmony)

4. % 319 (thythm)

Question Number : 123 Question Id : 9679471539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the RGB colour combination is (R =255 G =255 B = 255), then what colour will it show?
Options :

1. # Green

2. % Black

3. # Yellow

4. ¥ White

Question Number : 123 Question Id : 9679471539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe 3R Sft &, T TS (3R = 255 Wi = 255 &Y = 255) B, AN 3T B 11 11 U R g2
Options :

1. ® g

2. % Il

3. % il

4. ¢ qhg

Question Number : 124 Question Id : 9679471540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In graphite pencils, HB refers to:
Options :

1. ¥ Hard-Black

2. % Hard-Bold

3. % Hex-Black

4, % Hard-Bone

Question Number : 124 Question Id : 9679471540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UpTsc URe H, TI.&0. BT o1 312 gl g2
Options :

1. ¢ gIo-&Id

2. % gro-dIe

3. % gH-ID

4. % GrE-aH

Question Number : 125 Question Id : 9679471541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a quality of Hard pastel colour?



Options :

1. #® Higher binder, less pigment.
2. # It is used to draw an outline.
3. # The colour is less brilliant.

4. ¥ The finished drawing requires fixative to prevent from smudging.

Question Number : 125 Question Id : 9679471541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfRd & ¥ & 91, FoR (BT8) Ued T &1 TH T[0T 78] &7

Options :

1. ® IR HEYDH, HH qUD |

2. % ZY TR (3AFcAR) I & fore ST fran Srar g

3. % JHY IAHSR BT g |

4. ¢ TR 3RQ@UI DT YYAT g I T & oY RRIGRS &1 SHTaRgawdl il g

Question Number : 126 Question Id : 9679471542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The technique relies on two layers of different colours. First over the sheet of paper with a light colour and then cover light colour with black
crayon, then take a fairly sharp object and use it to scratch. This process and technique is called:

Options :

1. #® batik

2. % graffito technique
3. # rendering

4. ® gcribbling

Question Number : 126 Question Id : 9679471542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g a1 AT 37 3 &l IRal R AR gt 81 U8 8¢ T & 1Y BRI i Xt TR 3R fhR geb T Y bTIdd hal T Sr=31ied foma
ST &, R U IHfId YRER o A 39 WRITH & fore I foran SI1dn ] 1 39 Wfehan 3R dabid &l HEI ST g |




Options :

Question Number : 127 Question Id : 9679471543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example of fine line pens?
Options :

1. ¥ Rotring pens

2. % Aquarelle markers

3. % Berol felt pens

4. # Crayola felt pens

Question Number : 127 Question Id : 9679471543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad 7 9 o1 I1, B A8 U1 1 IS8 32
Options :

1. ¢ AR U (Rotring pens)

2. % THRA AT (Aquarelle markers)

3. % &R Bee UA (Berol felt pens)

4. % HIAQAT Bee U (Crayola felt pens)

Question Number : 128 Question Id : 9679471544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
True tempera is made by a mixture with the

Options :



1. #* camel fat and water
2. ¥ yolk of fresh eggs
3. #* linseed oil

4. # turpentine oil

Question Number : 128 Question Id : 9679471544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< THRT (True tempera) & frgror @ fAfdfa fear Sran %I
Options :

1. % $Hc DI Tal IR T

2. ¢ TSl 38T Bt ol

3. % 31l B dd

4. % qRUM &1 dd

Question Number : 129 Question Id : 9679471545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which technique does an artist use newspaper bits, fabric, wallpaper and found material on a panel or canvas, frequently in combination with
the painting?

Options :

1. # Paper-Mache

2. % Intaglio

3. % Canonical

4. ¥ Collage

Question Number : 129 Question Id : 9679471545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & 3 &g deie & BIs HaeR Ur: REFSER & GO # 3RIER &1 HaRAl, HUS, AU 3R U7 I7 H-1arg UR UTed Jreh)
BT IYINT BT 82

Options :




1. % gor-Aeh (Paper-Mache)
2. % SN (Intaglio)

3. ® PP

4. ¢ DA

Question Number : 130 Question Id : 9679471546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following people is known as the Father of Advertising?
Options :

1. ¥ David Ogilvy

2. % Edward Bernays

3. % Albert Lasker

4. % Steven Moy

Question Number : 130 Question Id : 9679471546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraforied & § fd fasmua &1 SHe [T STTaT 82
Options :

1. ¢ Sfde Sfiffred

2. % TSAS gl

3. % 3fdC AR

4. % g dg

Question Number : 131 Question Id : 9679471547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In typography, a is the process of adjusting the spacing between characters in a proportional font usually to achieve a visually pleasing
result.

Options :
1. # Roman type



2. # Serif style
3. ¥ Kerning
4. ¥ Matrix

Question Number : 131 Question Id : 9679471547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CTSU-g&UI &l (SR T, quTl & S 3R P U SMIUIAD Bie H FHAIS B 1 UiehaT g, S U: foq & siidve
iU U1t IR & T SUeT &t STl g |

Options :

1. % JHA TRY

2. % YNP wzd

3. ¢ HiAT

1% Bz

Question Number : 132 Question Id : 9679471548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word ‘Kitabat’ is related to which art form?
Options :

1. # Printing

2. % Painting

3. % Typography

4. ¥ Calligraphy

Question Number : 132 Question Id : 9679471548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fhaaa Usg, Holl P foog TU J Tefdd g2

Options :
1. ® HaUl




2. % Rl
3. % TIRUUTD!
4. ¥ gorgd

Question Number : 133 Question Id : 9679471549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists designed the iconic search engine ‘Google’ logo?
Options :

1. # Paul Rand

2. ¥ Ruth Kedar

3. % Rob Janoff

4. # Otto Firle

Question Number : 133 Question Id : 9679471549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad o ¥ fog sameR A URig WIS §91H9 'Google (TTA) &1 AN fSSiTeH fapdm um
Options :

1. ® Ufd 38 (Paul Rand)

2. ¢ ¥Y Hex (Ruth Kedar)

3. % A9 SIP (Rob JanofY)

4. % 3fiel fRd (Otto Firle)

Question Number : 134 Question Id : 9679471550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following photographers had taken the ‘V- J Day in times square’ photograph?
Options :

1. ¥ Alfred Eisenstaedt

2. % Steve McCurry



3. % Robert Capa
4. % Ansel Adam

Question Number : 134 Question Id : 9679471550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefed & O g BITRTHR 7 9-91 S 3 S8R W 1aR AHS hIciTh fordT T2
Options :

1. ¢ s @:I@% (Alfred Eisenstaedt)

2. % WG UHH (Steve McCurry)

3. % e BT (Robert Capa)

4. % @aqgﬂ (Ansel Adam)

Question Number : 135 Question Id : 9679471551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The back portion of a book’s binding which is visible when a book is shelved in a bookcase is called:
Options :

1. # book square

2. % thickness

3. % head cap

4. ¥ gpine

Question Number : 135 Question Id : 9679471551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QA B! foTee BT FISAT HIT S b &) gbby (el &1 AR H [ W fExaTs a1 8, 98 1 Hedndl 82
Options :

1. ® g R

2. % Hiers (%)

3. % g8 HU




4. WA

Question Number : 136 Question Id : 9679471552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following advertising companies designed the latest Bisleri (water) creative ‘Samajhdar Bisleri peetey hai’?
Options :

1. ® JWT

2. % Leo Burnett

3. ¥ 82.5 Communication

4. % Mudra Communication

Question Number : 136 Question Id : 9679471552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § 4 forg fagmue su=t 3 faae) (o) o1 Td=dH TaTeTe faxmo GreeR fogad i & fewmsa fear e
Options :

1. % Sle=ygel.

2. % ferdiae

3. ¥ 82.5 KDY

4. % g HRIADM

Question Number : 137 Question Id : 9679471553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following women is behind the most useful caller tune during the COVID-19 pandemic?
Options :

1. # Amrita Jamal

2. ¥ Jasleen Bhalla

3. # Richa Nigam

4. % Soniya Nair



Question Number : 137 Question Id : 9679471553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIfIS-19 HEHRT & GRM, T8 IuAIf Bler A & T fobg Afgan 3 st oftare §f g2
Options :

1. * HHT STHIA

2. ¢ S8 Hell

3. % AT

4. % QFATARR

Question Number : 138 Question Id : 9679471554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists is the voice behind Hindustan Unilever’s Surf Excel ‘Daag Achche Hai’ campaign?
Options :

1. # Raghuvir Yadav

2. # Soniya Nair

3. % Jasleen Bhalla

4. ¥ Richa Nigam

Question Number : 138 Question Id : 9679471554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # 9 frg saeR A g™ e & % TRId & SR 3w & Ao S & forg srot sfrars <t 82
Options :

1. % YYdR grgd

2. % I AR

3. % SRACI Hedl

4.« B |



Question Number : 139 Question Id : 9679471555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Artists N C Ghosh and K C Ghosh are related to which art style of painting?
Options :

1. # Kantha style

2. % Patna Kalam style

3. ¥ Kalighat style

4. % Bengal school style

Question Number : 139 Question Id : 9679471555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T, ). 9V 3R &. . 9Y 9He poleR, FufeiRad # 3 forg femeran 2l @ gefdd g2

Options :

1. % ST A

2. % eI HaH Qi
3. ¢ HIATe Qe
4. % QB d et

Question Number : 140 Question Id : 9679471556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Mughal artists painted ‘Princes of the House of Timur’ in 1545-50?
Options :

1. ¥ Abd us Samad

2. % Manohar

3. % Miskin

4. % Abul Hasan

Question Number : 140 Question Id : 9679471556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 ford I FareR 7 1545-50 H RS 31Tth ¢ 8T8 3410 THR (Princes of the House of Timur)' ATH® = ST 41?2
Options :

1. ¥ 3o 3 JHQ (Abd us Samad)

2. % TR

3. % fiA
4. % g T
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 9679471557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists painted ‘The Marriage Procession of Dara Shikoh’?
Options :

1. % Mah Muhammad

2. % Abd us Samad

3. ¥ Haji Madni

4. % Nihal Chand

Question Number : 141 Question Id : 9679471557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad o 9 fog saer A < AR TRRH 3116 grT Riepre (The Marriage Procession of Dara Shikoh)' &bl IEECEIEIKIY
Options :

1. # HIg HeH& (Mah Muhammad)

2. % 3o MY JHG (Abd us Samad)

3. & gl HeT

4. % fgTa g

Question Number : 142 Question Id : 9679471558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Mughal school of art, many artists received a special title from the king, who among the following artists got the title from Jahangir ‘Nadir-ul-
Asr’?

Options :

1. # Keshavdas
2. % Mansur

3. % Daulatram
4. # Sheeraji



Question Number : 142 Question Id : 9679471558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁmwﬁ?ﬁﬁ,aﬁopcnom@fﬁuwﬁ@r%@wngﬁﬁ,ﬁaﬁr@aﬁ@rmwaﬁ'W-w-&mv'ﬁamﬁrwgé

Options :

1. % HRae™
2. ¥ AR

3. % QIR
4. % QRTSH

Question Number : 143 Question Id : 9679471559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which school of Rajasthani painting was the title ‘Yuddha Kanda of Ramayana’ painted?
Options :

1. % Kishangarh

2. % Kota

3. ¥ Bundi

4. ¥ Mewar

Question Number : 143 Question Id : 9679471559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 g H1e' 2NN aren fod Fafeiad & § e Iorurt femae el & s mar ur
Options :

1. % (BTG

2. % Pl

3. % gdl

4. ¥ AdI8




Question Number : 144 Question Id : 9679471560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pahari school painting ‘Kaliya Mardana’ is a collection of which museum?
Options :

1. # Victoria and Albert Museum, London

2. # Government Museum and Art Gallery, Chandigarh

3. % National Museum Delhi

4. % Louvre Museum, Paris

Question Number : 144 Question Id : 9679471560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UgTS! Ll o1 fort aprforn e fforiaa # ¥ {5y Soe o WRidd 82
Options :

1. % faaeIaT T8 3feac Jfforad, der

2. % TG Ty TS 3TE e, et

3. ¢ P HIgIey feeeit

4. % AR YUgTe, U

Question Number : 145 Question Id : 9679471561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists painted the ‘Krishna’ (spring in Kullu) painting?
Options :

1. #® Raja Ravi Verma

2. ¥ Nicholas Roerich

3. % Nandlal Bose

4. ® Amrita Shergil

Question Number : 145 Question Id : 9679471561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRed o 9 frd SateR A SN (Goe § a¥d) o DI T Dhi?
Options :

1. % o7 3fq aHf

2. ¢ Heiag IR (Nicholas Roerich)

3. % e &

4. % 3T WA

Question Number : 146 Question Id : 9679471562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists created the artwork ‘Metascape’?
Options :

1. % Tyeb Mehta

2. ® Krishna Reddy

3. ¥ Nityanand Mahapatra

4. ¥ Akbar Padamsee

Question Number : 146 Question Id : 9679471562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & ¥ ot FABR 7 HeReT Hadpid & Fafd feam
Options :

1. % g9 Agdl

2. % PO

3. % e AR

4. bR USHE!

Question Number : 147 Question Id : 9679471563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the medium of the artwork ‘Ustad bade Gulam Ali khan’ made by artist Sharbari Roy Chaudhary?
Options :

1. ¥ Bronze

2. % Wood

3. % Oil on canvas

4, % Cement

Question Number : 147 Question Id : 9679471563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR IR 1T e g1 A Rl Swre 98 o et @i &1 J1eH 19 9182
Options :

1. ¢ ST (BT)

2. % DY

3. % B W dd

4. % e

Question Number : 148 Question Id : 9679471564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct time period of artist GR Santosh.
Options :

1. % 1929-1979

2. % 1939-1996

3. ¥ 1929-1997

4. % 1931-1996

Question Number : 148 Question Id : 9679471564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HADBR Sil. 3R, YdI¥ b eI GHUDI BT I DR |




Options :

1. # 1929-1979
2. % 1939-1996
3. % 1929-1997
4, % 1931-1996

Question Number : 149 Question Id : 9679471565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists painted ‘Malwa Nights’?
Options :

1. # Satish Gujral

2. % A. Ramachandra

3. # Jatin Das

4. ¥ K. G. Subramanyan

Question Number : 149 Question Id : 9679471565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford FAeR 3 HIdar Agew & fod 991 82
Options :

1. % Gl TR

2. % TIHAG

3. % Gffc g™

4. &, Sl geHUIY

Question Number : 150 Question Id : 9679471566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following coined the term ‘Aesthetic’?
Options :



1. % Croce

2. # Sigmund Freud

3. ¥ Alexander Baumgarten
4. # Abhinavagupta

Question Number : 150 Question Id : 9679471566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefed & ¥ gy TRfes (Aesthetic) Uq &1 yfaurfad faeam
Options :

1. % BIg (Croce)

2. % RETHe wras (Sigmund Freud)

3. ¢ 3[QIFoISR SIS (Alexander Baumgarten)

4. % A

Question Number : 151 Question Id : 9679471567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists made ‘Campbell’s Soup Cans’?
Options :

1. # Richard Hamilton

2. % Andy Warhol

3. % Jasper Johns

4. ¥ Roy Lichtenstein

Question Number : 151 Question Id : 9679471567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 g FAHR 7 SIS U -7 (Campbell’s Soup Cans)' SHT?
Options :

1. ® =8 gffreed




2. ¢ U3l aRgId
3. % SR S
4. % g feidH (Roy Lichtenstein)

Question Number : 152 Question Id : 9679471568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists created the artwork ‘Bacchus’?
Options :

1. # Lorenz Ghiberti

2. % Marcel Duchamp

3. # Bernini

4. ¥ Michelangelo

Question Number : 152 Question Id : 9679471568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o ¥ fvd SatdR A S=H (Bacchus) TH® Haldhid DI I D12
Options :

1. % RS W(Lorenz Ghiberti)

2. % A g
3. % §HHT (Bernini)

4. ¥ HISHA Toldll

Question Number : 153 Question Id : 9679471569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists created the artwork ‘Air de Paris’?
Options :

1. ¥ Marcel Duchamp

2. % Claude Monet



3. % Frederic Remington
4. ¥ Andy Warhol

Question Number : 153 Question Id : 9679471569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
mWﬁQW'WQW(AH de Paris)'wma’ﬂmﬁ?
Options :

1. ¥ AR 9w

2. % KIS HHC

3. % ThgRep IHTC

4. % TSI IRBIA

Question Number : 154 Question Id : 9679471570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mediums is used in the artwork ‘Cloud Gate’ made by Anish Kapoor?
Options :

1. ¥ Steel

2. % Wood

3. ¥ Bronze

4. % Shining fibre

Question Number : 154 Question Id : 9679471570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST BYR GRI SIS T8 Balpid RIS e H e 7 Y Tt A1es o1 IughT foban T &2
Options :

1.« WId

2. % DY

3. % DY




4, % At dq QT wEER)

Question Number : 155 Question Id : 9679471571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists is famous for his cloud study?
Options :

1. % Monet

2. # Goya

3. ¢ Turner

4. % J Constable

Question Number : 155 Question Id : 9679471571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRad FERI 7 T S I, 3 FASS Wl (T3S HI) & g ulrg 82
Options :

1. # ﬁﬁ?(Monet)

2. % T

3. ¥ TR (Turner)

4. % . BT (J Constable)

Question Number : 156 Question Id : 9679471572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists is called the painter of series?
Options :

1. ¥ Claude Monet

2. % Michelangelo

3. ¥ Rembrandt

4. % Raphael



Question Number : 156 Question Id : 9679471572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad FaeRl 7 3 f5a, Sad o1 fRAeR (@R 3ifw W) w1 S g2
Options :

1. ¢ FAI38 AHC (Claude Monet)

2. ® AEHA ol (Michelangelo)

3. % YA (Rembrandt)

4. % WA (Raphael)

Question Number : 157 Question Id : 9679471573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the famous artist of ‘Company School’?
Options :

1. # Ramlal

2. # Hasan Raza

3. % Yashodhar

4. ¥ Ishwari Prasad

Question Number : 157 Question Id : 9679471573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAufeiaa 7 @ oF, $u Woa &1 UG FABR Ul
Options :

1. # MHATA

2. % gl

3. % YRR

4. ¥ S TG



Question Number : 158 Question Id : 9679471574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the brightness or freshness of a colour hue.
Options :
1. # Value
2. % Luminosity
3. % Texture

4. % Relational elements

Question Number : 158 Question Id : 9679471574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T atiear Bl TG ATaSAi Bl HEI gl
Options :

1. % HcY (value)

2. ¥ TJHd (Luminosity)

3. % dHIdC (Texture)

4. % JdYURP dd (Relational element)

Question Number : 159 Question Id : 9679471575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists made ‘Shaheed Smarak’?
Options :

1. # Dhanraj Bhagat

2. % Anish Kapoor

3. ¥ Ramkinkar Baij

4. ¥ D.P. Roy Chowdhary

Question Number : 159 Question Id : 9679471575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
fAafeRed wareRl 4 ¥ b Eie WRE' &1 -1 B2
Options :

1. % YA HITd

2. % S HPR

3. % JMABDH o

4. STUL 7T A

Question Number : 160 Question Id : 9679471576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The full name of Artist K C S Paniker is

Options :

1. ¥ Kovalezhi Cheerampathoor Shubhkaran Paniker
2. ¥ Kovalezhi Cheerampathoor Sankaran Paniker

3. # Kumar Cheerampathoor Sankaran Paniker

4. ® Krishna Cheerampathoor Sankaran Paniker

Question Number : 160 Question Id : 9679471576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HATBR 5. Y. T, UfdEHR BT R4 gl
Options :

1. % Plarcigl IRAYYR YHHRUT Gf0Teh

2. ¢ PlaTcig IRTTYR vz GfoTah

3. % PHR JRATYR b YiUTah

4. % SN ARHAYYY Y UTOTHRhY
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Break time :

Group Marks :
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Question Number : 161 Question Id : 9679471577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Tutankhamen’ is related to which country?

Options :
1. ¥ Egypt
2. * France
3. * China
4. * Iraq
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Question Number : 161 Question Id : 9679471577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I e 3 el 82
Options :

1. ¢ fr

2. % g

3. % T

4. % Nh

Question Number : 162 Question Id : 9679471578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the ‘Billasurgam’ Cave Complex located?
Options :

1. # Uttar Pradesh

2. % Madhya Pradesh

3. % Andhra Pradesh

4. ¥ Maharashtra

Question Number : 162 Question Id : 9679471578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (Billasurgam) T T wel YA |2

Options :

1. % IR UK
2. % A YT
3. ¢ 3fiY U™
4. % HERTY



Question Number : 163 Question Id : 9679471579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following artists drew the ‘Ghab-Ghab’ face style in Mughal paintings?
Options :

1. ¥ Manohar

2. % Miskin

3. % Nihal Chand

4. ¢ Bihzad

Question Number : 163 Question Id : 9679471579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Froffed & ¥ g SAPR A G fa=ee § '96-96 (Ghab-Ghab)' 3 el &1 forsror fasam U1
Options :

1. % TR

2. % {Ap

3. % fAgra =g

4. ¢ faguG

Question Number : 164 Question Id : 9679471580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Artist Nainsukh is related to which art school?
Options :

1. ¥ Guler

2. % Kangra

3. % Hadoti

4. * Dhundhar

Question Number : 164 Question Id : 9679471580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
FATGR AW by Ha el (3 W) I Fafdd g2

Options :

1. ¢ eR

2. ® HATSI
3. % Elé Sl (Hadoti)

4. % YYR

Question Number : 165 Question Id : 9679471581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years did Tagore form the Bichitra Club?
Options :

1. #1919

2. % 1921

3. ¥ 1915

4. % 1917

Question Number : 165 Question Id : 9679471581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR A frg af fafaa o9 (Bichitra Club) TR fasar U
Options :

1. #1919

2. % 1921

3. ¥ 1915

4. % 1917

Question Number : 166 Question Id : 9679471582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following artist painted ‘Shakuntala’?



Options :

1. # Jamini Roy

2. ¥ Raja Ravi Verma
3. % Amrita Shergil
4. % Nandlal Bose

Question Number : 166 Question Id : 9679471582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRed O 9§ ford SardR A e AHS fF =T Ur
Options :

1. % S T

2. ¢ ror 9 aAf

3. % 3Ol AT

4. % e 919

Question Number : 167 Question Id : 9679471583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following kings is known as ‘Nagari Das’?
Options :

1. # Raw Devaji

2. ¥ Sawant Singh

3. ¥ Madho Singh

4. ¥ Partap Singh

Question Number : 167 Question Id : 9679471583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofefad & 3 g I &) AR /™ & A9 J ST ST 82

Options :




1. % 3G gdolt
2. ¢ grad Rig
3. % A1en Rig
4. % Yd/qRany g

Question Number : 168 Question Id : 9679471584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Miniature artist Nihalchand is related to
Options :

1. * Mughal School

2. % Pahadi School

3. ¥ Rajasthani School

4. % Deccan School

Question Number : 168 Question Id : 9679471584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
J&IHdl &b HAlPR Heleda 3 Tofda g1
Options :

1. % a2t

2. % UGSl Qe

3. ¢ SR ekt

4. % 3P A

Question Number : 169 Question Id : 9679471585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Jahangir holding Globe’ was painted in the folio.
Options :

1. # Tareekh-e-khandan-e-taimurya



2. * Baburnama
3. # Akbarnama

4. ¥ Jahangirnama

Question Number : 169 Question Id : 9679471585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRR BIeST Telier bl wifera & farfa fasan )
Options :

1. % TRIG-U-GFEH-T-agfa

2. % dIRAMHI

3. % DARATHT

4. ¢ SRR

Question Number : 170 Question Id : 9679471586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The book of ‘Nauras’ is related to
Options :

1. # Asaf Jah

2. % Babur

3. # Jehangir

4. ¢ ITbrahim Adil Shah

Question Number : 170 Question Id : 9679471586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARY S D G g1
Options :

1. % 3{HhIg

2. % dlaR



3. % SghiR
4. ¥ 3§llieH 3nfed g

Question Number : 171 Question Id : 9679471587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The artwork ‘Parth Sarthi’ was painted by
Options :

1. ¥ Nandlal Bose

2. # Shitindranth Majumdar

3. % Raja Ravi Verma

4. # Jamini Roy

Question Number : 171 Question Id : 9679471587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 IR TS HATHId BI SR1 RIfa favar mam
Options :

1.  Siceld S

2. % fafii=eTy TeeR

3. % o7 Xfq uf

4. % SR

Question Number : 172 Question Id : 9679471588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ‘Passing of Shahjahan’ was painted by .
Options :

1. % Nandlal Bose

2. % Gagendranath Tagore

3. ¥ Abanindranath Tagore



4. # Amrita Shergil

Question Number : 172 Question Id : 9679471588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t OTfiTT S TTeSTel (Passing of Shahjahan)' 1 = GIRT J-TT 7T YT |
Options :

1. ® deard 99

2. % TRIGATY TR

3. ¢ sy SR

4. % Jdr WA

Question Number : 173 Question Id : 9679471589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Lalit Kala Academy was inaugurated by in New Delhi on August 5th, 1954.
Options :

1. % D.P. Roy Chaudhary

2. % Maulana Abul Kalam Azad

3. % 1. K. Gujral

4. % Ramkinkar Baij

Question Number : 173 Question Id : 9679471589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 3R 1954 P Ts feean & G dfeld el BIGH! BT IGUTe- Tl T T
Options :

1. % 310 g e

2. ¢ HIAHT g HAH 3HTlG

3. % 3f3. &. ToRId

4. % BB o1




Question Number : 174 Question Id : 9679471590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bheembetka caves were discovered by
Options :

1. % Dayaram Sahni

2. # Alexander

3. ¥ V S Wakankar

4. % Manoranjan Ghosh

Question Number : 174 Question Id : 9679471590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
OdcHT ol TH1sM B @il DT |
Options :

1. % GORIE gt

2. % f¥hax (Alexander)

3. ¢ dl. T, AT UIehy

4. % ARG 9y

Question Number : 175 Question Id : 9679471591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“The Hindu Temple’ was written by
Options :

1. ¥ Stella Kramrisch

2. % AK. Swami

3. # Dr. Jagdish Gupta

4. ¥ Herbert Reed

Question Number : 175 Question Id : 9679471591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Q %@ Id (The Hindu Temple) @1 a1 ECil
Options :

1. ¢ XAl HART (Stella Kramrisch)

2. % T b, Wl

3. % ST SATGIRT

4. % g IS (Herbert Reed)

Question Number : 176 Question Id : 9679471592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Relief printing is wood cut and

Options :

1. ¥ Linocut

2. % Dry point

3. % Aquatint

4. ¥ Mezzotint

Question Number : 176 Question Id : 9679471592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fecfies fiifeT, 18 & (8 &) iR gl
Options :

1. ¢ feHl e

2. % g WEe

3. % TP (Aquatint)

4. % TIET (Mezzotint)

Question Number : 177 Question Id : 9679471593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
‘Meghdoot’ was written by

Options :

1. # Narayan Muni

2. % Naganjeet

3. % Kalidas

4. % Tulsidas

Question Number : 177 Question Id : 9679471593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG I T ECIRIT
Options :

1. % IR A

2. % W(Naganjeet)

3. ¢ Dlfcla™

4. % ot

Question Number : 178 Question Id : 9679471594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The best way to memorise is

Options :

1. ¥ to understand the concept

2. # to study in the night

3. ® to read silently

4. ¥ to write the concept

Question Number : 178 Question Id : 9679471594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG B DT YT 3BT IR gl




Options :

1. ¢ TYRUM Bl G
2. % Y g Bl
3. % b U3

4. % 3{AYRON DI fera-T

Question Number : 179 Question Id : 9679471595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Student should be given homework to
Options :

1. ® less time for games

2. % keep them busy

3. ¥ develop the habit for self-study

4. ® participate in game activity

Question Number : 179 Question Id : 9679471595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foerffar & o eed foar s =il
Options :

1. % Wal & for o0 I9g ¢

2. % o G

3. ¥ W B 3Tad fdbRid B

4. % W TAAfAl H W oA

Question Number : 180 Question Id : 9679471596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why is research in education important for teachers?
Options :



1. ¥ It enables them to make best possible judgments about what should be taught and how.
2. ® It makes them better supervision.
3. % It makes them clever.

4. ® Tt adds to their academic qualification.

Question Number : 180 Question Id : 9679471596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & i, gt & fog o) Agayuf g2

Options :

1. ¥ 9% 3% 59% aR H garad va fAufg o & T 9411 © fob a1 8iR fohd TR Ugran ST =g
2. % Ug I 9gcR Ul & J&H g1 g |

3. % Ug 3¢ HUM S |

4. % g IAD! R&OIH A7adr § gl BT ¢
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Group Number : 10
Group Id : 96794780
Group Maximum Duration : 0
Group Minimum Duration : 120
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Edit Attended Group? : No
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Group Marks : 20
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Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Id : 96794796
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9679471597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some students send a greeting card to you on teacher’s day what will you do?
Options :

1. ¥ Say thanks to them.

2. # Punish them.

3. # Call his/her parents.

4. % Ask them to not waste money.

Question Number : 181 Question Id : 9679471597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fo faentiat = e [Gaw & SR R 3MTUH! YUSTHATT Ul &, 39 T BRI
Options :

1. ¢ 3% ¥gare il

2. % 35 dfea |

3. % JYh HIA1-fUdr ol JAT/aTd B3|

4. % I Y DT 3UY 7 HA &b [T HaTl|

Question Number : 182 Question Id : 9679471598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If a student does not pay any respect to you then you will
Options :

1. # call him/her and ask to apologise

2. % award less marks in examination

3. # beat him/her

4. % ignore him/her

Question Number : 182 Question Id : 9679471598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe H13 faemff, s g T8 FHrar g, d o
Options :

1. % I AT 3R I &G B & 18 Bl
2. % JY GG H HH 3fcb

3. % I

4. v 3 JULEA B

Question Number : 183 Question Id : 9679471599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will you do in your free time in school?
Options :

1. # Rest in teachers’ room

2. # Read magazine and gossiping in staff room
3. % Use social media and entertain yourself

4. ¥ Check homework of students

Question Number : 183 Question Id : 9679471599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31T I al/fALTerd & SU- @relt 95§ o1 Hl?



Options :

1. % e HraR H fagm a1

2. % WH =0 H URSTE Ueh 3R Y=Y B3

3. % e HfSTr BT I B 3R 3T FARSH B
4. ¢ Tl & e Bt Sid B

Question Number : 184 Question Id : 9679471600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To maintain students’ interest in the class and improve learning outcomes, a teacher should
Options :

1. ® encourage private coaching

2. % use colour chalk

3. ¥ ask questions

4. % leave the class

Question Number : 184 Question Id : 9679471600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He H faenliat 1 wf a9 = SfR Rreror ufvomat & guR @34 & o, Riere & Bl
Options :

1. % T35l I Bl Uined Bl
2. % [N I16 BT TART HRAT

3. UY G
4. ® HYTBISDHR I o]

Question Number : 185 Question Id : 9679471601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
NCERT was established in
Options :



1. *® 1972
2. ¥ 1961
3. % 1971
4. % 1965

Question Number : 185 Question Id : 9679471601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
. 3. 3MR.E. (NCERT) &1 RITYAT A gs i
Options :

1. % 1972

2. ¥ 1961

3. % 1971

4. % 1965

Question Number : 186 Question Id : 9679471602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A teacher learns the most from

Options :

1. ¥ his/her experience and trainings

2. # his/her principal

3. % his/her parents

4. # his/her colleague

Question Number : 186 Question Id : 9679471602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T R T TE Sifie TRaar g

Options :

1. ¢ 30 3T 3R TfRrefor



2. % 3O YYTTHIS
3. % 3O ATA-fUdn
4. % 3 gganft

Question Number : 187 Question Id : 9679471603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you are a teacher and your colleague is NOT in his class, what will you do?
Options :

1. # Call the Principal and suggest giving a memorandum

2. % Record a video and complaint against the teacher

3. # (all the staff secretary

4. ¥ Call the colleague and ask them to join class and assigned small work to students.

Question Number : 187 Question Id : 9679471603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe 310 T e § SR STUHT TgHHT ST Bl H 751§, al 31U - HUI?
Options :

1. % JYMTEATTS J Yudh Bl 3R Idra-l J9 & BT a7t

2. % ST RpIS B< R e & Raars i s

3. % FHIil® Afad ¥ YD B

4. TEHH Y AUD DT 3R I HeM H o R il & oo Sl diom & e wgi|

Question Number : 188 Question Id : 9679471604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a teacher what will you choose if a student is NOT able to pay his/her exam fee?
Options :

1. ® Revoke the student from examination

2. ¥ Discuss with HOS and colleague and help the student



3. # Ask the students for help

4. # Suggest the student to borrow some money

Question Number : 188 Question Id : 9679471604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe s faadl, oo TRIal Yeob BT YT XA H Y& a1 § ol U 1R1&id & ¥4 H 31y Fufeiad # 3 o1 91 fawed g
Options :

1. # faemff o oden ¥ SRR R &N

2.« TF.3N.TY. 3R Jgh Al & 1 Tt 3t 3R faemf &) ggrrar s |

3. % fqenffat @ gemaar & fow w7

4. % Tqrdf & & 47 IUR T BT ga &1t

Question Number : 189 Question Id : 9679471605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options is NOT required for good teaching?
Options :

1. ¥ Remedy

2. ® Diagnosis

3. # Feedback

4. ¥ Aggression

Question Number : 189 Question Id : 9679471605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3=y fRrequr & fore fRgferfad & @ o 1 fdwey sirawus 81 82

Options :

1. # IUAR

2. % fAgH

3. % Tfagy (3MfHd)




4. & AHThTHD T

Question Number : 190 Question Id : 9679471606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teachers teaches CWSN students in institutes?
Options :

1. % PET

2. ¥ SET

3. ¥ COUNSELOR

4. % EVGC

Question Number : 190 Question Id : 9679471606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & 3 o 9 g, R o W Ssg,ua.uH. ot o1 fRign vem od 62
Options :

1% g

2./ THS AL

3. % BEIIYR

4. % SOt S .

Question Number : 191 Question Id : 9679471607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Dysgraphia is a disorder related to problems.
Options :

1. # speech

2. % drawing

3. # learning

4. ¥ writing



Question Number : 191 Question Id : 9679471607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&athan (Dysgraphia) & el ¥ Iefdd te fddR gl
Options :

1. % qroft

2. % 3REU

3. % 3ffET @)

4. ¥ AqGA

Question Number : 192 Question Id : 9679471608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is your first priority as a drawing teacher?
Options :

1. % Help students to find out school problems.

2. ¥ Educate pupils about art integration.

3. % Maintain school register and train all teachers in art.

4. ®% Count school students leave and send messages to all the students who have not joined all classes.

Question Number : 192 Question Id : 9679471608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Hl & (SR R) & = H 3! Ugan mufiiswmd Hafaied 3§ @ oF 3 grfe

Options :

1. # faenfial & Tpd &1 sl &1 udl A § Weridl &3l

2. ¢ HAT TSI & aR H faenfial o Riférd s

3. % Tpd IR BT WRWTG HAT 3R G} FReran! &1 Bl o1 URRrerur vem HA1|

4. % A & [AETl B Gel B TOHT BT 3R 3 quft faenfiat &t dc=r vom, forgia ot wemett o ymr = fermn g1




Question Number : 193 Question Id : 9679471609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The First National Policy on Education was developed in
Options :

1. % 1962

2. % 1968

3. % 1986

4. % 1966

Question Number : 193 Question Id : 9679471609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T AP TRr&T Aifd ¥ faspRyd &1 s ot
Options :

1. % 1962

2. % 1968

3. % 1986

4. % 1966

Question Number : 194 Question Id : 9679471610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following stages refers to age 7 to 11?
Options :

1. % Preoperational stage

2. % Dramatic stage

3. ¥ Concrete operational stage

4. % Formal operational stage

Question Number : 194 Question Id : 9679471610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
frafafad @ 9 & O s/, 79 1 99 &t g J afdd g2
Options :

1. * Yl UdTeTHTHSD HIRT (Preoperational stage)

2. % FAICHIY AT (Dramatic stage)

3.¥ Hﬁﬁw HARYT (Concrete operational stage)

4. % MRS YRTETHS ARl (Formal operational stage)

Question Number : 195 Question Id : 9679471611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you need to teach paper art to pupils you need to teach them first about art.
Options :

1. # sculpture

2. % origami

3. # sfumato

4. % fresco

Question Number : 195 Question Id : 9679471611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe 3mue! faefial &1 SrTeh ®ar (AUR 3M¢) RIEMT 81, df 3us! Jad Ugd 3= ST b IR H Rferd HA1 |
Options :

1. % T

2. SR

3. % 1v-g‘ﬂ:l'IE)f(sfumato)
4. % Tl

Question Number : 196 Question Id : 9679471612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The book ‘Emile’ is written by Rousseau on the
Options :

1. ¥ nature of education

2. # changes in life through games

3. # Dbenefits of war

4. # benefit of work

Question Number : 196 Question Id : 9679471612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 A T (Emile) A0S QRaw TR ferdt &Y
Options :

1. ¢ fR1& 1 Upfd

2. % Wl & ATEH Y Siaq | gRadH

3. % gg b Ay

4. % BB AY

Question Number : 197 Question Id : 9679471613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'Piaget developed a stage theory of intellectual development'. Which of the following distinct stages is NOT included?
Options :

1. # The Preoperational stage

2. # The Sensorimotor Stage

3. % Fundamental operational stage

4. # The Concrete Operational Stage

Question Number : 197 Question Id : 9679471613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS A ANgd b BT Srarisl &1 Rigid faHiRid fovar | Tow Fafiafad 3 4 o4 6 IRy sawir gnfie 78 22

Options :



1. # Yl YdTeTATHSD ARIT (The Preoperational stage)

2. % Sfogdrds Sarl (The Sensorimotor Stage)

3. ¢ SMYRYJ UdTTATHSD HIRIT (Fundamental operational stage)
4. ® Hﬁﬁw HARYT (The Concrete Operational Stage)

Question Number : 198 Question Id : 9679471614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

John Locke’s most famous work is

Options :

1. #® The Moral Judgment of The Child

2. % An Essay Concerning Human Understanding
3. # The Imagination on local administration

4. ® The Persistence of Memory

Question Number : 198 Question Id : 9679471614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Al B Jad URIG a1 gl

Options :

1. % &1 ARd SfoH< 3 ¢ I3cs (The Moral Judgment of The Child)

2. ¢ T Y i _YgHA e & (An Essay Concerning Human Understanding)
3. % Ep[ E"Efﬁrﬁ"ﬂq 3 dlpd Q@ﬁlﬁ@f-ﬂ:{ (The Imagination on local administration)
4. % T RAREY 3ifw AR (The Persistence of Memory)

Question Number : 199 Question Id : 9679471615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is art integrated education?
Options :

1. ¥ Art must be integrated with the teaching and learning process of all academic subjects.



2. # Art integration should only happen with Math, Science, and English.
3. % Integration of teaching subject with students.

4. ® Participate in all activities with art.

Question Number : 199 Question Id : 9679471615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hell Ui e Faffed o 9 o 82

Options :

1. ¢ el & gt et ot § e e S vfehan & A1y Usbigrd favat S =fe |
2. % ell DT UhIbRU bl 10T, faRT 3R SISl & |1y foba w1 =nfee

3. % fqenliat & 9y Rygror faw &1 waiarun|

4. % ol & 1Y G Ticraferat & gicrHrrar|

Question Number : 200 Question Id : 9679471616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teacher’s Day is celebrated in India on , birthday of Dr. Sarvepalli Radhakrishnan.

Options :

1. % 7 September
2. % 6 September
3. ¥ 5 September
4. ® 9 September

Question Number : 200 Question Id : 9679471616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST, AUl AUTHOH BT SFHIGH & YR H & a9 & U & T S g |
Options :

1. % 7 fRydR

2. % 6 RydeR




3. ¢ 5 {deR
4. % 9 RdeR



